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.REM ¢

IDENTIFICATION

ORI LIONS WP

11 PRODUCT CODE: AC-8448C-MC

13 PRODUCT NAME:  CZDHBCO DH11 MEMORY TEST
15 OATE: 12-JUN-1985

17 MAINTAINER: NAC SOFTW"RE ENGINEERING
19 AUTHOR : MICHAEL DAVIS

23 THE INFORMATIGN IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT
24 NOTICE AND SHOULT NOi 3E CONSTRUED AS A COMMITHENT BY DIGITAL
a5 EQUIPMENT CORPORATION. DIGITAL EQUIPMENT CORPORATION ASSUMES
26 NO RESPONSIBILITY FOR ANY ERRORS THAT MAY APPEAR IN THIS

27 DOCUMENT .

29 NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF SOFTWARE ON
30 EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL OR ITS AFFILIATED
31 COMPANIES

33 COPYRIGHT (C) 1972, 1976, 1985 BY DIGITAL EQUIPMENT CORPORATION,
34 MAYNARD, MASSACHUSETTS,

SEQ 1
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1. ABSTRACT

THE DH11 MEMORY TEST IS A TEST OF THE BYTE COUNT AND
BUS ADDRESS MEMORIE OF THE DHM11. EACH MEMORY TS
TESTED FOR ADDRESS~L TITY AND DATA READ/WRITE
CAPABILITY

SEQ 2
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REQUIREMENTS

EQUIPMENT

POP-11 FAMILY STANDARD COMPUTER WITH 4KW OF MEMORY
ASR-33 TELETYPE OR EQUIVALENT

DH11 ASYNCHRONOUS MULTIPLEXER

DM11 MAINTENANCE CARD INSTALLED

STORAGE

THE PROGRAM LOADS INTO 4KW OF MEMORY

LCADING PROCEDURE

THE STANDART PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED

STARTING PROCEDURE

CONTROL SWITCH SETTINGS

AFTER PROGRAM LOAD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOMWN

TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART

SW00=1

TO START PROGRAM AT SELECTED TESY AFTER PROGRAM RESTART
S5W01=1

STARTING ADORESS

THE STARTING ADORESS FOR ALL TESTS IS 000200

THE RESTART ADDRESS FOR ALL TESTS I 0002000

THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
PROGRAM AND/OR OPERATOR ACTION

INITIAL PROGRAM START

LCAD PROGRAM INTO MEMORY

LOAD ADDRESS 000200

CLEAR CONSOLE SWITCHES

PRESS START

THE PROGRAM WILL TYPE “DH11 MEMORY TEST*

AND WILL THEN [YPE "VECTOR ADDRESS-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD.

SEQ 3




CcZoHB-Co

VO JOAD LN -

MACRO VO4.00 27-JUN-85 12:49:26 PAGE 4

4.3 (CONT'D)

4.3.1.6 TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR
FOR THE DH11 TO BE TESTED FOLLOWED BY <CARRIAGE RETURN>

NOTE: WORDS IN ANGLE BRACKETS, I.E. <CARRIAGE RETURN> MEAN THAT
THE TELETYPE KEY WITH THE NAMED FUNCTION LrOWLD BE STRUCK

IF AN INCORRECT ADDRESS IS ENTERED, THE PROGRAM

WILL TYPE "7* AND WILL REPEAT THE SECOND MESSAGE OF 4,3.1.5
« 3.1.7 THE PROGRAM WILL TYPE "CONTROL REGISTER ADDRESS-"

AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.1.8 TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER OF THE
OH11 TO BE TESTED FOLLOWED BY <CARRIAGE RETURN>

IF AN INCORRECT ADDRESS IS TYPED, THE PROGRAM WILL TYPE

¥2* AND WILL THEN REPEAT THE MESSAGE OF 4.3.,1.7
4.3.1.9 THE PROGRAM WILL TYPE "R” TO INDICATE THAT IT IS

ABOUT TO START TESTING, AND THEN TESTING WI.L BEGIN

4.3.2 PROGRAM RESTART WITH ALL SWITCHES ODOWN
4.3.2.1 PERFORM 4.3.1.2 70 4.3.1.5
4.3.2.2 THE PROGRAM MWILL TYPE “DHi1 MEMORY TEST*
AND WILL THEN CONTINUE AS DESCRIBED IN 4.3.1.9
4.3.3 PROGRAM RESTART WITH SW0O=1
4.3.3.1 LOAD ADDRESS 000200
4.3.3.2 SET SHO1=1
4.3.3.3 PRESS START
4.3.3.4 THE PROGRAM WILL PERFORM AS DESCRIBED IN 4.3.1.5 T0 4.3.1.9
4.3.4 PROGRAM RESTART WITH SWOi=1
4.3.4.1 LOAD ADDRESS 000200
4.3.4.2 SET SW01=1
4.3.4.3 PRESS START
4.3.4.4 THE PROGRAM WILL TYPE "DH11 MEMORY TEST*

AND WILL THEN TYPE “TEST PC-* AND WILL WAIT FOR &N INPUT
FROM THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FCLLOWED BY <CARRIAGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE R TO INDICATE THAT IT HAS STARTED
AND MWILL START TESTING AT THE SELECTED TEST.

NOTE: CARE MUST BE TAKEN WHEN THS FEATURE IS USED, SINCE
THERE IS NO PRUTECTION AGAINST SELECTING AN ADDRESS THAT
IS IN THE MIDOLE OF A TEST

NOTE: IF IT IS DESIRED TO LOOP ON THE TEST THAT IS SELECTED
SET SW14=1 BEFORE FNTERING THE TEST ADORESS

SEQ 4
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5.2
5.2.1

5.2.2

5.2.3

OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS

SW15-1, HALT ON ERROR

SW14=1, LOOP ON CURRENT TEST

SW1X=1, SUPPRESS ERROR TYPEOUT

SWil=1, INHIBIT ITERATIONS

SW10=1, ESCAPE TO NEXT TEST ON ERROR

SW09=1, FREEZE VARIABLE PARAMETER IN 'QRENT TEST
SWO1=1, START PROGRAM AT SELECTED TE

SW00=1, CHANGE PARAMETERS AT PROGRAM 1ART

SUBROUTINE ABSTRACTS
TRAPCATCHER (LOCATIONS 000000-000776)
THIS ROUTINE fS USED TO INTERCEPT UNEXPECTED INTERRUPTS

AND TRAPS. THE AREA FROM 000000-000776 IS LOADED
WITH THE FOLLOWING SEQUENCE

72
776
0

O~ O_ON

IF AN UNEXPECTED INTERRUPT OR TRAP OCCURS, THE PROGRAM
WILL HALT WITH THE PC 2 GREATER THAN THE ADDRESS TO
WHICH THE PROGRAM TRAPPED. THE PROCESSOR STACK MAY

BE EXAMINED TO DETERMINE WHERE THE PROGRAM WAS WHEN THE
TRAP OR INTERRUPT OCCURED.

START  (PROGRAM INITIALIZATION)

THIS ROUTINE INITIALIZES ALL PROGRAM FLAGS AND COUNTERS,
TYPES THE PROGRAM TITLE MESSAGE, AND INPUTS THE VECTOR
AND CONTROL REGISTER ADDRESSES OF THE DH11 TO BE TESTED.

BEGIN (PROGRAM START AND RESTART)

THIS ROUTINE IS ENTERED IMMEDIATLY AFTER “START*
AND EACH TIME A PROGRAM PASS HAS BEEN COMPLETED.
THE ROUTINE SETS UP THE PROCESSOR STACK AND STATUS WORD
AND THEN TRANSFERS CONTROL TO THE TEST AT WHICH

TESTING WILL BEGIN. IF SWO1=0 WHEN THIS ROUTINE IS ENTERD

TESTING WILL START AT T1 (TEST 1). IF SWOl=1 WHEN
THIS ROUTINE IS ENTERED, TESTING WILL START AT THE PC
ENTERED FROM THE TELETYPE KEYBOARD.

SEQ S
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EOP (END OF PASS)

THIS ROUTINE IS ENTERED ONCE PER PASS AFTER ALL TESTS
HAVE BEEN COMPLETED. THI1S ROUTINE TYPES THE MAINDEC
IDENTIFICATION CODE OF THE PROGRAM, CLEARS ERROR FLAGS
AND UPDATES THE PASS COUNT. IF THE PROGRAM WAS LOADED
UNDER AC711 OR DDP, THE ROUTINE CHECKS FOR RETURN TO
THE ACT11 OR DDP MONITOR. IF THE PROGRAM IS NOT UNDER
MONITOR CONTROL, THE ROUTINE TRANSFERS TO BEGIN.

SCOPER (SCOPE LOOP AND ITERATION HANDLER)

THIS ROUTINE IS ENTERED EACH TIME A TEST IS COMPLETED.

THE ROUTINE CHECKS FOR THE FOLLOWING UPON ENTRY

A) IF SW10=1, THE ROUTINE WILL TRANSFER TO THE NEXT TESI
IN SEQUENCE, AFTER CLEARING ERROR FLAGS.

8) IF SWil=1, THE ROUTINE WILL TRANSFER TO THE NEXT TEST
SEQUENCE, AFTER CLEARING ERROR FLAGS.

C) IF SW14=1, THF ROUTINE WILL LOOP ON THE CURRENT TEST
REGARDLESS OF THE ITERATION COUNT.

IF NONE OF THE ABOVE IS TRUE, THE ROUTINE WILL ADD 1

TO THE COUNT OF TEST ITERATIONS, AND COMPARE THIS VALUE
TO THE NUMBER OF ITERATIONS THAT SHOULD BE PERFORMED.
IF THESE NUMBERS ARE EQUAL, THE ROUTINE WILL TRANSFER
TO THE NEXT TEST IN SEQUENCE. THE THE NUMBERS ARE NOT
EQUAL, THE TEST CURRENTLY IN PROGRESS WILL BE REPEATED.

SCOP1R (FREEZE ON CURRENT DATA)

THE CALL TO THIS ROUTINE FOLLOWS IMMEDIATLY AFTER THE

THE CALL TO THE ERROR HANDLER IN THOSE TESTS THAT HAVE
VARIABLE PARAMETERS. THIS ROUTINE IS ALWAYS ENTERED IN
THOSE 1ESTS, WHETHER OR NOT AN ERROR OCCURS.

IF SW09=1, THE ROUTINE WILL TRANSFER CONTROL BACK TO THE
TEST AT A POINT WHICH WILL ALLOW REPEATING THE FUNCTION
UNDER TEST CONTINUOUSLY WITH THE SAME DATA. IF THIS
OPTION IS SELECTED, THE ROUTINE "SCOPER” IS NEVER ENTERED
AND ITERATION COUNTS WILL NOT BE UPDATED.
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5.2.7

5.2.8

ERRORS (ERROR HANDLER)
THIS ROUTINE IS ENTERED UPON ERROR DETECTION ONLY.

WITH ALL CONSOLE SWITCHES DOWN, THE ROUTINE PROCEDES AS FOLLOWS:

R)

8)

o

0)

THE PC OF THE INSTRUCTION THAT CALLED THE ERROR HANDLER
IS ACCESSED THRU THE STACK, AND THEN THE EMT INSTRUCTION
ITSELF IS FETCHED. THE 8 LSB OF THE EMT

INSTRUCTION ARE THE ERROR CODE. THIS CODE IS

USED TO ACCESS A TABLE OF ERROR MESSAGES AND ERROR

DATA STORASE LOCATIONS.

IF THE TEST THAT FAILED DID NOT FAIL PREVIOUSLY

DURING THIS PASS, A COMPLETE ERROR REPORT IS MADE

IF THE TEST THAT FAILED FAILED MOR THAT ONCE DURING

THE CURREMT PASS, ONLY THE DATA RELATING TO THE FAILUER
IS TYPED. 1IF SWi3=1, NO ERROR TYPEQUT IS MADE.

THE ROUTINE NOW CHECKS FOR HALT ON ERROR. IF SWiS5=1
THE PROGRAM WILL HALT WITH THE PC OF THE CALL TO

THE ERROR ROUTINE IN RO. IF SW15s0, THE PROGRAM WILL
NOT HALT, BUT WILL CHECK FOR ESCAPE TO NEXT TEST.

IF SW10=0, THE ROUTINE WILL RETURN

TO THE TEST IN PROGRESS. IF SW10=1, THE RUJTINE MILL
ABORT THE CURRENT TEST, AND TRANSFER TQO THE NEXT

TEST IN SEQUENCE, THRU THE ROUTINE “SCOPER".

TRPSRV (TRAP DECODE AND DISPATCH)

THIS ROUTINE DECODES THE 8 LSB OF THE TRAP INSTRUCTION
THAT CAUSED TH PROGRAM INTERRUPT, AND TRANSFERS CONTROL
TO THE ROUTINE THRU THE TABLE “TRPTAB* USING THE 8 LSB
OF THE TRAP INSTRUCTION AS AN OFFSET TO THE POINTER TO
THE RQUTINE TO BE ENTERED.

SEQ 7
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PROGRAM AND OR OPERATOR ACTION
PROGRAM START WITH ALL SWITCHES DOWN

.1 REFER TO SECTIONS 4.3.1 AND 4.3.2 FOR INITIAL PROGRAM

BEHAVIOR.

.2 AFTER "R” HAS BEEN TYPED BY THE PROGRAM, TEST EXECUTION

WILL BEGIN., EACH TEST WILL BE REPEATED A SELECTED NUMBER
OF ITERATIONS (SEE LISTING FOR EXACT NUMBER FOR EACH TEST)
AND THEN THE PROGRAM WILL PROCEED TO THE NEXT TEST.

.3 WHEN ALL ITERATIONS HAVE BEEN COMPLETED, THE PROGRAM

WILL TYPE "CZDHB-C-C* AND THEN RESTART TESTING AT TVEST 1
(LOCATION Ti IN THE PROGRAM).

.4 IF AN ERROR OCCURS, THE PROGRAM WILL TYPE AN APPROPRIATE

ERROR MESSAGE, AND THEN CONTINUE THE TEST IN PROGRESS.
PROGRAM START WITH SW00=1

THE PROGRAM WILL PERFORM AS DESCRIBED IN 4.3.1 AND 5.3.1
PROGRAM START WITH SWO1=1

.1 REFER TO SECTION 4.3.4 FOR INITIAL PROGRAM BEHAVIOR
.2 TEST EXECUTION WILL START AT THE ADDRESS SPECIFIED

AND WILL CONTINUE AS DESCRIBED IN 5.3.1.2

.3 AFTER "CZDHB-C" HAS BEEN TYPED, THE PROGRAM WILL

RESUME TESTING AT TEST 1

PROGRAM OPERATION WITH SW15=1

SAME AS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR,
THE PROGRAM WILL HALT AFTER THE ERROR TYPEOUT, AND

THE PC+2 OF THE CALL TO THE ERROR ROUTINE WILL BE
OISPLAYED IN RO.

PROGRAM OPERATION WITH SW13=1

SAME AS 5.3.1 EXCEPT THAT NO ERROR TYPEQUTS WILL OCCUR
PROGRAM OPERATION WITH SWii=1

SAME AS 5.3.1 EXCEPT THAT EACH TEST WILL BE REPEATED ONCE
ONLY

PROGRAM OPERATION WITH SW10=1
SAME AS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR

THE CURRENT TEST WILL BE ABORTED, AND THE PROGRAM
WILL PROCEED TO THE NEXT TEST IN SEQUENCE.
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w wn

[

[

.3.8

1.1

.2.2

.3.2

(CONT'D)
PROGRAM OPERATION WITH SW14=1, OR SW09=1

THESE FUNCTIONS ARE NORMALLY USED FOR TROUBLE SHOOTING.
STE SECTION 6.3 FOR THEIR USE.

ERRORS
ERROR HALTS

THE ERROR MESSAGE FORMAT FOR ALL ERROR TYPEOUTS
IS #S FOLLOWS

PC+2 MESSAGE
HEADER (IF APPLICABLE)
DATA (IF APPLICABLE)

WHERE

PC«2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER + 2
MESSAGE IS AN ASCII MESSAGE DESCRIBING (BRIEFLY) THE FAILURE
HEADER IS A DESCRIPTION OF THE DATA TO FOLLOW

DATA IS OCTAL INFORMATION RELATING TO THE CAUSE OF THE FAILURE
IF THE SAME ERROR OCCURS IN A GIVEN TEST ON THE SAME

PASS, AND IF DATA IS ASSOCIATED WITH THAT ERROR, ONLY

OATA IS TYPE ON SUCCEEDING ERROR TYPEOUTS

IF NO DATA IS ASSOCIATED WITH THE ERROR
THE COMPLETE ERROR MESSAGE IS TYPED.

ERROR DESCRIPTIONS

SEE LISTING FOR DETAILS OF ERRORS

ERROR RECOVERY

SW15=0

IF THE PROGRAM IS RUN WITH SW1S=0, NO OPERATOT ACTION IS
REQUIRED TO CONTINUE TESTING

SW15=1

IF THE PROGRAM IS RUN WITH SW15=1, TC CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED, PRESS THE PROCESSOR
CONSOLE CONTINUE SHWITCH

SCOPE LOOPING

TO ZCOPE ON A SPECIFIC TEST, SET SWi4=1 AND SW13=1

THIS WILL CAUSE THE PROGRAM TO CONTINUQUSLY LOOP ON THE
SAME TEST, AN2 WILL CAUSE ALL ERROR TYPEOUTS TO BE INHIBiTED
TO SCOPE ON A SPECIFIC VALUE OF A PARAMETER WITHIN

A TEST, SET SW09=1 TO FREEZE THE DATA
(SEE LISTING FOR THOSE TESTS THAT INCORPORATE THIS FEATURE)

SEQ 9
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6.3.3

(CONT'D)

PROGRAM START TO SCOPE LOOP ON SELECTED TEST
PERFORM SECTION 4.3.4 WITH Skid4=}

RESTRICTIONS

STARTING

THE DH11 TEST CARD MUST BE INSTALLED

RUNNING

NONE

MISCELLANEOQUS

EXECUTION TIME

THE TIME FOR ONE PASS OF THE PROGRAM (END OF
TYPEQUT OF CZDHB-C TO END OF TYPEOUT OF CZDHB-C)
IS GIVEN FOR VARIOUS PROCESSORS IN THE TABLE BELOW

TIME
PROCESSOR

POP-11/04
0S

10
15
20
24
34
35
40
44

SEQ 10
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PROGRAM DESCRIPTION

THE PROGRAM FIRST TESTS THE BUS ADDRESS AND BYTE COUNT
MEMORIES FOR ADDRESSABILITY. THE TEST IS5 PERFORMED IN ThE
FOLLOWING MANNER :

A)EACH LOCATION OF THE MEMORY TO B8E TESTED IS LOADED
WITH ITS ADDRESS, DUPLICATED EVERY 4 BITS. THE BINARY
CONTENTS OF EACH LOCATION IS SHOWN BELOW

CONTENTS
LOCATION
00 0000 0000 0000 0000
01 0001 0001 0001 0001
02 0010 0010 0010 0010
03 0011 0011 0011 0011
16 1110 1110 1110 1110
17 1111 1111 1111 1111

THE ABOVE PATTERN WAS CHOSEN SINCE THE MEMORY IS COMPOSED
OF FOUR (4) CHIPS EACH HAVING A CAPACITY OF 16 WORDS

BY FOUR (4) BITS. IF ANY OF THE FOUR CHIPS IS ADDRESSED
INCORRECTLY, THE CONTENTS OF THAT CHIP WILL BE INCORRECT
AND WILL INDICATION WHAT LOCATION WAS ACTUALLY ADDRESSED.

AFTER THE ABOVE TESTS HAVE BEEN COMPLETED, EACH LCCATION
IN BOTH THE BUS ADDRESS AND BYTE COUNT MEMORIES ARE TESTED
TO VERIFY THAT ALL BITS CAN BE SET TO 1S AND CLEARED TO 0S

THE NEXT GROUP OF TESTS VERIFY THAT A

SELECTED ADDRESS IN EITHER THE BYTE COUNT OR BUS ADDRESS
MEMORY CAN BE SET TO A SELECTED VALUE WITHOUT CHANGING
THE CONTENTS OF ANY OTHER LOCATION IN THAT MEMORY.

THE NEXT GROUP OF TESTS SETS ALL LOCATIONS IN EITHER

THE BYTE COUNT OR BUS ADDRESS MEMORY TO 1S, CLEARS A SELECTED
LOCATION TO OS, AND VERIFY THAT ONLY THE SELECTED LOCATION
WAS AFFECTED.

THE FINAL GROUP OF TESTS VERIFIES THAT THE MEMORY EXTENTION
BITS OF THE BUS ADDRESS MEMORY CAN BE SET AND CLEARED.

LISTING
t
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131
145
158
167
303
339
373
520
563
595
607
632
664
691
712
743
744
745
746
747
748
TRAPS ., *
749
750

MACRO V04.00 27-JUN-B5 12:49:26 PAGE 12

; DHMAC-A - DH11 ™MACRO LIBRARY
; COPYRIGHT 1985, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

.LIST

ME

.NLIST MC,MD,.CND

s+ CHS REPLACEMENT HISTORY

H 49
1 »8
] «7

;‘6
; 5

CLEAN END OF PASS

MESSAGE,
751
752
753
TCH REGISTER"
754

; o4
3 3
; %2

; ol

SKONE TSKI
SKONETSKI
SKONETSKI

SKONETSKI
SKONETSKI

SKONETSKI
SKONETSKI
SKONETSKI

SKONETSKI

26-APR-1985
22-APR-1985
22-APR-1985

22-APR-1985
22-APR-1985

18-APR-1985
12-APR-1985
11-APR-1985

11-APR-1985

16:23:08
16:48:03
16:26:04

14:22:35
08:28:54

14:20:15
10:34:52
16:00:24

15:49:05

SEQ 12

: 3

*FIXED TYPO CAUSING ASSEMBLY ERRORS*”
*TYPO ERROR IN VECTOR CHANGE CODE SOURCE FIXED*
"ADDED CODE TO SET VECTORS FOR PWR FAIL, ERRORS, AND EMT

*FIXED BRANCH ERROR IN END OF PASS ROUTINE*
"FIXED BUG (AN OCTASC MACRO CALL WAS WRONG) AND ADDED A

“ADDED SOFTWARE SWITCH REG SUPPORT, BUT UNTESTED*
“FIXED PROBLEMS WITH SPURIOUS CR/LFS*
*ADDED MACRO FROM SYSMAC.SML THAT SIZES FOR SOFTWARE SWI

“LIBRARY FOR DH11 DIAGNOSTICS*
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LAIST M
.NLIST MC,MD,CND
.HEADER t/1976,1985/,t/DH11 MEMORY TEST/,t/CZDHB-COQ/

;STARTING PROCEDURE

;LOAD PROGRAM

sLOAD ADDRESS 000200

:PRESS START

;PROGRAM WILL TYPE DH11 MEMORY TEST

sPROGRAM WILL TYPE “VECTOR ADDRESS-*

:TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR

;FOR THE DHi1 TO BE TESTED, FOLLOWED BY <CARRIAGE RETURN>
;PROGRAM WILL TYPE “CONTROL REGISTER ADDRESS-"

;TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER

;FOR THE DH11 TO BE TESTED, FOLLOWED BY <CARRIAGE RETURN> '
;PROGRAM WILL TYPE “R” TO INDICATE THAT TESTING HAS STARTED
;AT THE END OF A PASS, PROGRAM WILL TYPE * CZDHB-CO *

;AND THEN RESUM TESTING

.TITLE CZDHB-CO

(2]

.ENABLE ABS
.NLIST ™MC,MD,CND
.LIST M
.SYFBOLS
;SWITCH REGISTER OPTIONS
100000 SW15=100000 ;=1,HALT ON ERROR
040000 SW14=40000 1=1,L00P ON CURRENT TEST
020000 SW13220000 1=1, INHIBIT ERROR TYPEOQUT
010000 S$W12=10000
004000 SW11=4000 121, INHIBIT ITERATIONS
002000 SW10=2000 1=1.ESCAPE TO MNEXT TEST ON ERROR 1 3
001000 SH09+1000 1=1,LO00P WITH CURRENT DATA
000400 SW08=400
000100 SH06+100
000040 SH05=40
000020 SWO4 =20
000010 SW03=10
000004 SH02-4
000002 SW01=2 sRESTART PROGRAM AT SELECTED TEST
000001 SH00=1 1RESELECT VECTOR AND CONTROL REGISTER

1ADDRESS AFTER PROGRAM RESTART
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tREGISTER DEFINITIONS

1 000000

000000
000001
000002
000003
000004
0000CS
000006
000007

177776
012774

005746
005726
010046
012600
024646
022626

100000
040000
020000
010000
004000
002000
001000
000400
000200
000100
000040
000020
000010
000004
000002
000001

RO=%0
Rlesl
R2=%2
R3=u3
R4 =x4
RS =4S
SP =46
PCen?

;GENERAL REGISTER
1GENERAL REGISTER
1GENERAL REGISTER
1GENERAL REGISTER
1GENERAL REGISTER
tGENERAL REGISTER
sPROCESSOR STACK POINTER
;PROGRAM COUNTER

:LOCATION EQUIVALENCIES

iSWR=177570
;LIGHTS=177570
PS=177776
STACK=ENDCOD +200

1CONSOLE SWITCH REGISTER
sPOP-11/45 DISPLAY REGISTER
sPROCESSOR STATUS WORD

sSTART OF PROCESSOR STACK

;INSTRUCTION DEFINITIONS

PUSK15P=5746
POP15P=5726
PUSHRO=10046
POPRO=12600
PUSH25P=24646
POP25SP =22626

"MACRO HMLT
ENT
ENOM WLT

B8IT15=100000
8I1T714=40000
8IT13=20000
8IT12-10000
8I711-4000
BIT10=2000
817091000
8IT08=-400
8IT07=200
8IT06+100
8IT05=40
BIT04=20
8IT03-10
8IT02-4
BIT01=2
8IT00=1
.CATCH

;DECREMENT PROCESSOR STACK 1 WORD
1 INCREMENT PROCESSOR STACK 1 WORD
sSAVE RO ON STACK

sRESTORE RO FROM STACK

1:DECREMENT STACK TWICE

: INCREMENT STACK TNICE

A
$A

W b W
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1 TRAPCATCAER FOR ILLeGAL INTERRUPTS
.=0
.REPT 200

.*2
HALT

.+
HALT
.2
HALT
.*2
HALT

sUNEXPECTED TRAP TO THIS LOCAIION
{EXAMINE STACK TO FIND CAUSE

tUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
1EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
1tUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
1EXAMINE STACK TO FIND CAVUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION

SEQ 15
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000146 000000 HALT 1EXAMINE STACK TO FIND CAUSE
000150 000152 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000152 000000 HALT sEXAMINE STACK TO FIND CAUSE
000154 000156 .*2 tUNEXPECTED TRAP TO THIS LOCATION
000156 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000160 000162 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000162 0G0000 HALT ;EXAMINE STACK TO FIND CAUSE
000164 000166 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000166 000000 HALT tEXAMINE STACK TO FIND CAUSE
000170 000172 .e2 tUNEXPECTED TRAP TO THIS LOCATION
000172 000000 HALT :EXAMINE STACK TO FIND CAUSE
000174 000176 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000176 000000 MALT +EXAMINE STACI. TO FIND CAUSE
000200 000202 .e2 ;UNEXPECTED TRAP TO THIS LOCATION
000202 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000204 000206 .e2 ;UNEXPECTED TRAP TO THIS LOCATION
000206 000000 HALT sEXAMINE STACK TO FIND CAUSE
000210 000212 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000212 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000214 000216 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000216 000000 HALY +EXAMINE STACK TO FIND CAUSE
000220 000222 .*2 :UNEXPECTED TRAP 70 THIS LOCATION
000222 000000 HALT 1EXAMINE STACK TO FIND CAUS<
0C0224 000226 .e2 ;UNEXPECTED TRAP TO THIS LOCATION
000226 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000230 000232 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000232 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000234 000236 .*2 ;UNEXPECTED TRAP TO THIS LOCATION
000236 000000 HALT :EXAMINE STACK TO FIND CAUSE
000240 000242 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000242 000000 HALT sEXAMINE STACK TO FIND CAUSE
000243 000246 .*2 sUNEXPECTED TRAP TO THIS LOCATION
000246 000000 HALT $EXAMINE STACK TO FIND CAUSE
000250 000252 .2 sUNEXPECTED TRAP TO THIS LOCATION
000252 000000 HALT 1EXAMINE STACK TO FIND CAUSE
000254 00025+ .02 sUNEXPECTED TRAP TO THIS LOCATION
000256 000C.". HALT ;EXAMINE STACK TO FIND CAUSE
000260 00022 .+2 iUNEXPECTED TRAP TO THIS LOCATION
000262 00000 HALT :EXAMINE STACK TO FIND CAUSE
000264 000266 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000266 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000270 000272 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000272 000000 HALT $EXAMINE STACK TQ FIND CAUSE
000274 000276 .*2 sUNEXPECTED TRAP TO THIS LOCATION
000276 000000 HALT $EXAMINE STACK TO FIND CAUSE
000300 000302 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000302 00000C HALT ;EXAMINE STACK TO FIND CAUSE
000304 000306 .e2 sUNEXPECTED TRAP TO THIS LOCATION
000306 000000 HALT 1EXAMINE STACK TO FIND CAUSE
004310 000312 .*2 sUNEXPECTED TRAP TC THIS LOCATION
000312 000000 HALT ;EXAMINE STACK TO FIND CAUSE
009314 000316 .e2 {UNEXPECTED TRAP TO THIS LOCATION
000316 000900 HALT iEXAMINE STACK TO FIND CAUSE
000320 000322 .*2 sUNEXPECTED TRAP TO THIS LOCATION
000322 000000 HALT {EXAMINE STACK TO FIND CAUSE
000324 000326 .*2 sUNEXPECTED TRAP TO THIS LOCATION
000326 000000 HALT {EXAMINE STACK TO FIND CAUSE
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000330
000332
000334
000336
000340
000342
000344
000346
000350
000352
000354
000356
000360
000362
000364
000366
000370
000372
000374
000376
000400
000402
000404
0C0406
000410
000412
000414
G00416
000420
000422
000424
000426
000430
000432
000434
000436
000440
000442
000444
000446
003450
000452
000454
000456
000460
000462
000464
000466
000470
000472
000474
000476
000500
000502
000504
000506
000510

SEQ 17
HACRO VO4.00 27-JUN-85 12:49:26 PAGE 15-2

000332 .+2 {UNEXPECTED TRAP TO THIS LOCATION
000000 HALT iEXAMINE STACK TO FIND CAUSE
00336 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000000 HALT {EXAMINE STACK TO FIND CAUSE
000342 .+2 tUNEXPECTED fRAP TO THIS LOCATION
060000 HALT :EXAMINE STACK TO FIND CAUSE
000346 .e2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT $EXAMINE STACK TO FIND CAUSE
000352 .e2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT {EXAMINE STACK TO FIND CAUSE
000356 . *2 tUNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000362 .v2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT :EXAMINE STACK TO FIND CAUSE
000366 Y- ;UNEXPECTED TRAP TOQ THIS LOCATION
000000 HALT sEXAMINE STACK TO FIND CAUSE
000372 .+2 :UNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000376 .2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT :EXAMINE STACK TO FIND CAUSE
000402 .42 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT sEXAMINE STACK TO FIND CAUSE
000406 .e2 ;UNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000412 .02 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT sEXAMINE STACK TO FIND CAUSE
000416 .e2 sUNEXPECTED TRAP TO THIS LOCATION
060000 HALT ;EXAMINE STACK TO FIND CAUSE
000422 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000C00 HALT ;EXAMINE STACK TO FIND CAUSE
000426 .42 sUNEXPECTED TRAP TO THIS LOCATION
000060 HALT sEXAMINE STACK TO FIND CAUSE
000432 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000000 HALT sEXAMINE STACK TO FIND CAUSE
000436 .42 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000442 .e2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000446 .e2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT sEXAMINE STACK TO FIND CAUSE
000452 .*2 ;UNCXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000456 .42 sUNEXPECTED TRAP TO TH1S LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000462 .*2 tUNEXPECTED TRAP TO THIS LOCATION
000000 HALT sEXAMINE STACK TO FIND CAUSE
000466 .42 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000472 . +2 sUNEXPECTED TRAP TO THIS LOCATION
000000 HALT 1EXAMINE STACK TO FIND CAUSE
000476 . +2 ;UNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000502 .42 ;UNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000506 .42 {UNEXPECTED TRAP TO THIS LOCATION
000000 HALT ;EXAMINE STACK TO FIND CAUSE
000512 .2 ;UNEXPECTED TRAP TO THIS LOCATION
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00512
000514
000516
000520
000522
000524
000526
000539
000532
000534
000536
000540
000542
000544
000546
000550
000552
000554
000556
000560
000562
000564
000566
0€0570
000572
000574
000576

MACRO VO4.00 27-JUN-85 12:49:26 PAGE 15-3

000000
o516
000000
000522

000576
000602

000612

000622

000626
060000
000632
000000
000636

000642
000000
000646
000000
000652
000000
000656
000000
000662
000000
000666
000000

000000

HALT
.42
HALT
.2
HALT

;EXAMINE STACK TO FIND CAUSE
iUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
:{UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
tEXAMINE STACK 7O FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK 70 FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK 10 FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FuND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATYON
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO TH1IS LOCATION
;EXAMINE STACK 7O FIMD CAUSE
{UNEXPECTED TRAF TG THIS LOCATION
;EXAMINE STACK TO FIND CAVUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE

SEQ 18




SEQ 19
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000674 000676 .2 ;UNEXPECTED TRAP TO THIS LOCATION
000676 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000700 000702 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000702 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000704 000706 .42 ;UNEXPECTED TRAP TO THIS LOCATION
000706 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000710 000712 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000712 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000714 000716 .42 sUNEXPECTED TRAP TO THIS LOCATION
000716 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000720 000722 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000722 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000724 000726 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000726 000000 HALT sEXAMINE STACK TO FIND CAUSE
000730 000722 .+2 sUNEXPECTED YRAP TO THIS LOCATION
000732 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000734 000736 .+l ;UNEXPECTED TRAP TO THIS LOCATION
000736 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000740 000742 .+2 :UNEXPECTED TRAP TO THIS LOCATION
000742 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000744 000746 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000746 00000C HALT sEXAMINE STACK TO FIND CAUSE
000750 000752 .42 ;UNEXPECTED TRAP TO THIS LOCATION
0C0752 000000 HALT sEXAMINE STACK TO FIND CAUSE
000754 000756 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000756 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000760 000762 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000762 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000764 000766 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000766 090000 HALT ;EXAMINE STACK TO FIND CAUSE
000770 000772 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000772 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000774 000776 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000776 000000 HALT ;EXAMINE STACK TO FIND CAUSE
1 001000 .SETVEC

b
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000200

000204

000204

0204

00204

000204

0C0204

000204

000204

000204

000204

000204

SEQ 29
MACRO V04.00 27-JUN-85 12:49:26 PAGE 16
;STANDARD INTERRUPT VECTORS
000200 .=200
000167 000600 JMP START ;GO TO START OF PROGRAM

.TRPDEF
;:OEFINITIONS FOR TRAP SUBROUTINE CALLS
;POINTERS TO SUBROUTINES CAN BE FOUND STARTING
;AT LOCATION “TRPTAB"

TRPDEF SCOPE, t/SCOPE LOOP AND ITERATION HANDLER/

104400 SCOPE=TRAP+Y ;SCOPE LOOP AND ITERATION HANDLER
000001 YsYel
TRPDEF TYPE,t/TELETYPE QUTPUT ROUTINE/
104401 TYPE=TRAP+Y ;TELETYPE OUTPUT ROUTINE
000002 YaYel
TRPDEF OCTASC,t/0CTAL TO ASCII CONVERSION/
104402 OCTASC=TRAP:Y ;OCTAL TO ASCII CONVERSION
000003 Y=Y+l
TRPDEF INSTR, t/INPUT ASCII STRING/
104403 INSTR=TRAP.Y ;INPUT ASCII STRING
000004 Y=Yel
TRPDEF INSTER,t/STRING INPUT ERROR/
104404 INSTER=TRAP+Y :STRING INPUT ERROR
000005 YuYel
TRPDEF PARAM, t/CONVERT STRING TO OCTAL. CHECK LIMITS/
104405 PARAM=TRAP+Y ;CONVERT STRING TO OCTAL, CHECK LIMITS
000006 YeYel
TRPOEF SAVOSP,t/SAVE RO-RS5, PC/
104406 SAVOSP=TRAP+Y ;SAVE RO-RS, PC
000007 YsYel
TRPDEF RESOS, t/RESTORE RO-RS/
104407 RESOS=TRAP.Y sRESTORE RO-RS
000910 YaYel
TRPDEF SCOPEL,*/CHECK FOR FREEZE ON CURRENT DATA/
104410 SCGPEL=TRAP+Y 1CHECK FOR FREEZE ON CURRENT DATA
000011 YsYel
.MACRO CODEM1
MoV DHSSR, DHSLR :SET UP ADDRESS OF SILO
INC DHSLR :STATUS REGISTER HIGH BYTE
.ENDM  CODEM1

.START OHRVEC,3,4,DHSCR,0,177776,7.10,..1
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0

001000
001002

001004
001012
001016
001022
001026
001032
001036
001042
001046
0C1052
001056
001062
001066
001072
001076
001102
001106
001114
001120
001122
001122
001130
001134
001134
001136
001140
001144
001150
001154

001160

MACRO V04.00 27-JUN-85 12:49:26 PAGE 17

001000

177570
177570

012767
012706
012702
012722
012722
012722
012722
012722
012712
005067
005067
005067
005067
005067
016746
016746
012767
005777
000405

012767
005067

005726
005726
012667
012667
104401
005767

001001

.=1000

:PROGRAM INITIALIZATIOn

;LOCK OUT INTERRUPTS

sSET UP PROCESSOR STACK
;:SET UP POWER FAIL VECTQR
:CLEAR PROGRAM FLAGS AND COUNTS

;TYPE TI
JIIF NB <>,
.IIF NB <>,

SWR: . WORD
LIGHTS: .WORD

000340 176764 START: MOV

012774
000024
011434
000340
010274
000340
010506
000340
010352
010306
010304
010274
010270
176702
176700
001122
177650

000176
177646

176642
176634
011604
010246

176670

177650

MOV
MOV
MOV
MOV
MoV
MOV
MOV
MOV
CLR
CLR
CLR
CLR
CLR
MOV
MOV
HOV
TST
e

HOV
CLR

1ST
TST
MOV
MoV
TYPE
TST
.IF N8B <DHRVEC>
BNE

1s:

2%:

JIFF

.ENOC

IF N8 <
SIZE: CLR
14: TST

2%: MOV

8NE

TLE MESSAGE

:DETERMINE MEMORY SIZE

iSET UP TRACE TRAP RETURN

177570
177570

@340,PS
@STACK,SP
®24,R2
OPFAIL,(R2)+
€340, (R2).
#ERRORS, (R2)+
9340, (R2)«
@TRPSRV, (R2)+
4340, (R2)
STFLG

PASCNT

ERRCNT

ERRFLG

ERRFLG

4, -(SP)

6. -(SP)

o1, 4

SSWR

24

@176, SWR
LIGHTS

(SP)+»
(SP)«
(SP)e, 6
(SP)+, 4
JMTITLE
INIFLG

VEC1

BEGIN

RO
924,804
(RO)»

18

RO ,HCORE
@2 ,HCORE
6,804

i SWITCH DHSCR ADDRESS
3 LIGHTS

;LOCK OUT INTERRUPTS
:SET _UP PROCESSOR STACK
i POINT TO VECTOR AREA
;SET UP POWER FAIL TRAP
;SERVICE AT LEVEL 7
;ERROR HANDLER

;SERVICE AT LEVEL 7
;GENERAL HANDLER DISPATCH SERVICE
;SERVICE AT LEVEL 7
:CLEAR TEST START FLAG
sCLEAR PASS COUNT
;CLEAR ERROR COUNT
;CLEAR ERROR FLAG
;:CLEAR LAST ERROR PC

; PUSH TRAP VECTOR

; SET UP TRAP VECTOR
i TEST SWITCH REGISTER ADDRESS
+ IF SUCCESSFUL, LEAVE IT ALONE

: POINT TO SOFT SWITCH DHSCR
; O MEANS WE ARE NOT GOING TQ USE

; CLEAN UP STACK

:TYPE TITLE MESSAGE
;CHECK INITIALIZATION FLAG

;IF NOT O, CHECK SWITCHES
;:FOR REINITIALIZATION

:IF NOT O, START TEST

;SET UP TIME OUT RETURN

:WILL TRAP WHEN NO MEMORY
;LOCATION RESPONDED, CONTINUE
;RO CONTAINS ADDRESS OF

;NON EXISTANT MEMORY

;RESTORE TRAPCATCHER

SEQ 21

@ e %0 @ me [™os @ s we 8e o5 @

LR X

WNNNNN

[,
&thJﬂﬂEJb&Jl&Jth

15 : 4
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001162

001164
001172
001174
001174
001200
001204
01210
001212
001214
001216
001220
001224
001226
001230
001232
001234
001236
001240
001242
001243
001244
001246
001250
001252
001254
001256
001260
001261

001262
001262
001270

001274
001300
001302

MACRO v04.00 27-JUN-85 12:49:26 PAGE 17-1

000404

032777
001445

012701
012702
012702
010211
005012
060301
060302
020127
001371
104403
011633
104405
000300
000770
011356

003

004
104403
011655
104405
000000
177776
011334

007

010

016767
005267

005767
001002
005167

000001

000300
000302
000004

001000

010064
010060

010126
010120

177606

010064

.ENDC
IF NB o
TRACER: MOV
SXT
MOV
B8R
1$: MOV
MOV
MOV
.ENDC
IF N8
IF B <>

BR
IFF
TST

BEQ
.ENDC
VECL: BIT

BEQ
VEC2:
MOV
MOV
MOV
1$: MOV
CLR
ADD
ADD
CMP
BNE
INSTR
MVECTOR
PARAM
300
770
DHRVEC
.BYTE 3
.BYTE &
INSTR
MREGAD
PARAM

0
177776
OHSCR
.BYTE 7
.BYTE 10
.ENDC
JIF N8B <D
CODEM1
MOV
INC

TST
BNE
comn

.ENDC

<DHRVEC>

#14,8¢10
RO

ORTT,TRTRET
24
MTI,TRTRET
#12,8010
#TRTRET, 8816

VEC2

INIFLG
VEC2

#5HO0, §SWR
BEGIN

#300,R1
#302,R2
#4 ,R3
R2,(R1)
(R2)
R3,R1
R3.R2
R1,#1000
1

OHSSR, DHSLR
OHSLR

INIFLG
BEGIN
INIFLG

;PROGRAM START
;CHECK FOR PROGRAM START AT SELECTED ADDRESS

SEQ 22

:SET UP ILLEGAL INSTRUCTION TRAP kS 1Ln%,
;00 11740, 11/45 INSTRUCTION
:11/740,45 RTT RETURN FROM TRACE TRAP

:11105,10,20 RTI RETURN FROM TRACE TRAP
:RESTROE TRAPCATCHER
:SET UP TRACE TRAP VECTOR

sIF INTTIALIZE FLAG=0
;GET VECTOR AND CSR ATDRESS

;IF SWO0=1, GET NEW VECTOR i 4
;AND CSR
: 4
)

;RESTORE TRAPCATCHER
;:IN FLOATING VECTOR AREA

; INPUT ACDRESS OF DEVICE VECTOR
;MESSAGE *“VECTOR ADDRESS-*

;CONVERT STRING TC OCTAL

;LOW LIMIT

;HIGH LIMIT i 3
;LOCATIONS TO BE FILLED

;:NUMBER OF LOCATIONS

;LSB MASK

;INPUT ADDRESS OF DEVICE CSR
tMESSAGE “CONTROL REGISTER ADDRESS-"
;CONVERT STRING TO OCTAL

:LOW LIMIT

sHIGH LIMIT

;LOCATIONS TO SE FILLED

;NUMBER OF LOCATIONS

;LSB MASK

;SET UP ADDRESS OF SILO
;STATUS REGISTER HIGH BYTE

1ir INITIALIZATION FLAG
:IS CLEARED
;SET IT

i 3

»
’
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001306
001314
001320
001326
001330
001332
001334
001336
001340
001342
001344
001345
001346
001350
001356
001362
001364
001370
001374

MACRO V04.00 27-JUN-8S 12:49:26 PAGE 17-2

012767
012706
032777
001410
104403
012044
104405
000000
017500
011374

001

001
000410
012767
005767
001004
005167
104401
000177

000340 176462 BEGIN:

012774
000002

001400
010046

010040
012040
007774

177452

.BYTE
.BYTE

010016 1$:

2%:
3s:

MOV

BIT
BEQ
INSTR
MTSTPC
PARAM

17500
RETRN

BR
MoV
18T
BNE
COM
TYPE
JMP

#340,PS
#STACK, SP
#5401, BSWR
14

2
#T1,RETRN
STFLG

33

STFLG

MR
SRETRN

SEQ 23

;LOCK QUT INTERRUPTS

:SET UP PROCESSOR STACK

;IF SWO1=1 ; 4
;GET PC FOR PROGRAM START

;GET PC

;MESSAGE "TEST PC"

;CONVERT STRING TO OCTAL

;NORMAL START, TEST 1
:IF LOOPING, BYPASS TYPEOUT

;TYPE_“R* TO INDICATE START
iSTART TESTING i 3
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2 001400

001400
001400
001406
001414

001422

001426
001430
001432

001436
001442
001446
001450
001452
001454

001460
001462
001464
001470
001474

001476
001500
001500

001502
001504
001510
001512
001514
3 001516

001516
001516

MACRO v04.00 27 JUN 85 12:49:26 PAGE 19

012767
012767
012767

000002
012700

005004
005002
010277

010277
062702
005204
005300
001367
012700

005004
005002
010477
017703
020203

001401
104001
005204
062702
005300

001364
104400

012767

000340 176370
000100 007766
001514 007754

000020

007676

007700
010421

000020

007644
007646

010421

000340 176252

MEMT1

t/BR/,t/BUS ADDRESS/
;BUS ADDRESS MEMORY ADDRESSING TEST

SEC 24

:LOAD EACH LOCATION IN THE BUS ADDRESS MEMORY

;WITH THE ADDRESS OF THAT LOCATION.

:THE ADDRESS IS REPEATED EVERY 4 BITS

;VERIFY THAT EACH LOCATION IN THE BUS ADDRESS MEMORY
;WAS ADDRESSED.

TS \XN,100,4¢
MOV

T1: 9340,PS
MOV 4100, ICOUNT
MOV &4% ,ESCAPE
IFNB o
MOV #,FREEZL
.ENDC
XN=XN+1
MOV 920,R0
CLR R4
CLR R2
1s: mov R4 ,8DHSCR
MOV R2 , 8DHBA
ADD 910421 ,R2
INC R4
DEC RO
BNE 1s
MOV #20,R0
CLR R4
CLR R2
2%: MOV R4 ,8DHSCR
MOV 8DHBA ,R3
CcMP R2.R3
BEQ 34
.IIF ION <BA>,<BA>, HLT
EMT 1
.IIF IDN <BA>,.<BC»>, HLT
34: INC R4
ADD 910421 ,R2
DEC RO
BNE 24
4s: SCOPE
MEMT1 t/8C/,t/BYTE COUNT/

;:DISABLE ALL INTERRUPTS
:SET UP FOR 100 ITERATIONS
;SET UP TQ ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

:SET UP TO ADDRESS 20 (OCTAL)
;LOCATIONS IN THE BUS ADDRESS MEMORY
;:START AT ADDRESS 0

sSELECT ADDRESS IN BUS ADDRESS
;MEMORY TO BE ADDRESSED

;LOAD MEMORY LOCATION

;WITH TTS ADDRESS

;:ADVANCE TO NEXT ADDRESS

;:CONTINUE IF NOT DONE
;SET UP TO CHECK
:EACH MEMORY ADDRESS
:START AT ADDRESS 0

;ADDRESS MEMORY LOCATION
:READ CONTENTS OF MEMORY
:WAS MEMORY LOCATION LOADED
;WITH ITS ADDRESS

1 1BUS ADDRESS MEMORY ERROR
;BYTE COUNT MEMORY ERROR

2
:ADVANCE TG NEXT LOCATION

sCONTINUE IF NOT DONE

;BYTE COUNT MEMORY ADDRESSING TEST

:LOAD EACH LOCATIGN IN THE BYTE COUNT MEMORY

;WITH THE ADDRESS OF THAT LOCATION.

:THE ADDRESS IS REPEATED EVERY 4 BITS

;VERIFY THAT EACH LNCATION IN THE BYTE COUNT MEMORY
sMAS ADDRESSED.

TS \XN,100,4%
T2: MOV

9340.PS

:DISABLE ALL INTERRUPTS
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001524
001532

001634

001634
001634
001642
001650

MACRO VO4.00 27-JUN-85 12:49:26 PAGE 19-1

012767
012767

000003
012700

005004
005002
010477

010277
062702
0035204
003300
001367
012700

005004
005002
010477
017703
020203

001404

104002
005204
062702
003300
001364
104400
000000

012767

012767 000100 007532
012767 001730 007520

000100 007650
001632 007636

000020

007560

007564
010421

000020

007526
007532

010421

000340 176134

SEQ 25

MoV €100,ICOUNT ;SET UP FOR 100 ITERATIONS
IF e MoV 44, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
MoV ¢,FREEZ]1 ;SET UP TO LOOP WITH DATA ; 3
JENDC
XN=XN+1
MOV #20,R0 ;SET UP TO ADDRESS 20 (OCTAL)
sLOCATIONS IN THE BYTE COUNT MEMORY
CLR R4 :START AT ADORESS 0
CLR R2
1¢: MOV R4 ,8DHSCR ;SELECT ADDRESS IN BYTE COUNT
;MEMORY TO BE ADDRESSED
MoV R2,80HBC ;LOAD MEMORY LOCATION
ADD £10421,R2 ;WITH ITS ADDRESS
INC R4 sADVANCE TO NEXT ADDRESS
DEC RO
BNE 14 ;CONTINUE IF NOT DONE
MOV #20,R0 ;SET UP 10 CRECK
;EACH MEMORY ADDRESS
CLR R4 ;START AT ADDRESS 0
CLR R2
2%: MOV R4 ,8D0HSCR ; ADDRESS MEMORY LOCATION
MOV 80HBC ,R3 ;READ CONTENTS OF MEMORY
CMP R2.R3 sWAS MEMORY LOCATION LOADED
;WITH ITS ADDRESS
BEQ 34
.Ilr IDN <BC>,<BA>, HY i :BUS ADDRESS MEMORY ERROR
JIIF IDNEHT 58C>.<BC>. HT 2 :BYTE COUNT MEMORY ERROR
3s: INC R4 sADVANCE TO NEXT LOCATION
ADD €10421.R2
DEC RO
BNE 24 ;+CONTINUE IF NOT DONE
4% SCOPE
XADRS=0
XCADRS=0
ADRS=XADRS
CADRS=XCADRS
REPT 16.
MEMT2 t/BA/,t/BUS ADDRESS/.\XADRS,\XCADRS,177777,.¢t/17717171/
.NLIST
XADRS=XADRS+1
XCADRS =XCADRS+ 1
LIST
.ENDR
MEMT2 t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,t/1771771/

:BUS ADDRESS MEMORY DATA TEST
tVERIFY THAT ADDRESS O OF BUS ADDRESS MEMORY
sCAN BE SET TO 177777 AND CLEARED TO O

TS \XN,100.2%

13: MoV 4340,PS
MoV 4100, ICOUNT
MoV 924 ESCAPE

JIF N8 <>
MoV ¢ ,FREEZL

10ISABLE ALL INTERRUFTS
$SET UP FOR 100 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA : 3




CZone -Co

001656
01662

001670
001676
001702
001704
001706
001706

001710
001712
001720

001724
001726
001726

001730

001732

001732
001732
001740
001746

MACRO VO4.00 27-JUN-85 12:49:26 PAGE 19-2

SEQ 26

1BUS ADDRESS MEMORY ERROR

1BYTE COUNT MEMORY ERROR

1BUS ADDRESS MEMORY ERROR

sBYTE CGUNT MEMORY ERROR

.ENDC
000004 XN=XN+1
012705 1771717 Hov #177777.RS sEXPECTED RESULT=177777
012777 000000 007444 Hov €0, 80HSCR :SELECT LOCATION O
sQF BUS ADDRESS MEMORY
012777 177777 007444 Hov 9177777, 80HBA sWRITE 177777 INTO MEMORY
017704 007440 MOV S0HBA, R4 sREAD CONTENTS OF MEMORY LOCATION
020504 cHP R5.R4 sCOMPARE EXPECTED AND
001404 BEQ 13 ;RECEIVED MEMORY CONTENTS
.IIF IDN <BA>,<BA>, HLY 3
104003 EMT 3
.IIF IDN <BA>,<BC>, HLT 4 sBYTE COUNT MEMORY ERROR
005005 1s: CLR RS tEXPECTED RESULT AFTER CLEAR=0
042777 177777 007422 8IC #177777, BDHBA sCLEAR MEMORY LOCATION
017704 007416 HOV S80HBA, R4 sREAD CONTENTS OF BUS ADDRESS
sMEMORY ADDRESS 0
001401 8EQ 2%
.IIF IDN <BA>,<BA>, HLT 3 :BUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF IDN <BA>,<BC>, HLT 4
sADDRESS O NOT 0, ERROR
104400 24: SCOPE
000001 XADRS=XADRS+1
000001 XCADRS=XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,¢/177771/
1BUS ADORESS MEMORY DATA TEST
sVERIFY THAT ADDRESS 1 OF BUS ADDRESS MEMORY
sCAN BE SET TO 177777 AND CLEARED TG O
TS \XN,100,24
012767 000340 176036 T4: Hov #340,PS sOISABLE ALL INTERRUPTS
012767 000100 007434 Hov 4100, ICOUNT :SET UP FOR 100 ITERATIONS
012767 002026 007422 — MOV 924 ,ESCAPE +SET UP TC ESCAPE TO NEXT TEST
. <>
ENOC Hov #,.FREE21 1SET UP TO LOOP WITH DATA : 3
000005 XN=XN+1
012705 1771777 nov #177777,RS 1EXPECTED RESULT=177777
012777 20001 007346 MoV #1,00HSCR +SELECT LOCATION 1
1OF BUS ADDRESS MEMORY
012777 177777 007346 nov #177777, G0HBA sWRITE 177777 INTO MEMORY
017704 007342 "oV SDHBA R4 tREAD CONTENTS OF MEMORY LOCATION
020504 cHe RS,.R4 sCOMPARE EXPECTED AND
001401 8EQ 14 1RECEIVED MEMORY CONTENTS
.IIF IDN <BA>,<BA>, MY 3
104003 ENT 3
.IIF IDN <«BA>,<BC>, WY 4 1BYTE COUNT MEMORY ERAOR
005005 14 CLR WS {EXPECTED RESULT AFTER CLEAR=Q
042777 177777 007324 BIC #177777, 80HEA sCLEAR MEMOPY LOCATION
017704 007320 1 GDHBA, RS iREAD CONTERTS OF BUS ADDRESS
: sMEMORY ADDRESS 1
001401 BEQ 2
.IIF IDN BA>,<BA>, Hwy 3 1BUS ADDRESS MEMOR ! ERROR
104003 3
.IIF IDN <BA>,<BC>, Hwy

4
+ADDRESS 1 NGT O, ERROR




C20M8-C0

002026

002030

002030
002030
002036
002044

002052
002056

002064
002072
002076
0C2100
0C2102
002102

002104
002106
002114

002120

002122
002122

002124

002126

002126
002126
002134
002142

002150
002154

002162

MACRO v04.00 27-JUN-CS

104300
000002
000002

012767
012767
012767

000006
012705
012777

012777
017704
020504
001401

104003
005005
042777
017704
001401
104003
104400

000003
000003

012767
012767
012767

000007
012705
012777

012777

000340
000100
002124

1777717
000002

177171717
007244

1777717
007222

000340
000100
002222

1mmnmn
000003

177777

175740
007336
007324

007250
007250

007226

175642
007240
007226

007152
007152

SEQ 27
12:49:26 PAGE 19-3

24: SCOPE
XADRS=XADRS+1
XCADRS =XCADRS+ 1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,%t/177771/
sBUS ADDRESS MEMORY DATA TEST
i VERIFY THAT ADDRESS 2 OF BUS ADDRESS MEMORY
¢CAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,24
T5: MOV 0340,PS :DISABLE ALL INTERRUPTS
MoV €100, ICOUNT sSET UP FOR 100 ITERATIONS
— MoV 924 ,ESCAPE 1SET UP TO ESCAPE TO NEXT TEST
. <>
MoV 9,FREEZ1 sSET UP TO LOOP WITH DATA i 3
.ENDC
XNeXN+1
MoV 9177777,.RS ;EXPECTED RESULT=177777
MOV 42 ,80HSCR ;SELECT LOCATION 2
;0F BUS ADDRESS MEMORY
MoV #177777,80HBA sWRITE 177777 INTO MEMORY
MoV SUHBA , Ra ;READ CONTENTS OF MEMORY LOCATION
cne RS,R4 ;CCHPARE EXPECTED AND
BEQ 13 .RECEIYED MEMORY CONTENTS
JIIF IDNEHT ;BA>.<8A>. HT X :BUS ADDRESS MEMORY ERROR
IIF IDN <BA>,<BC>, " 4 :BYTE COUNT MEMORY ERROR
1%: CLR R5 tEXPECTED RESULT AFTER CLEAR=0
8IC €177777,90HBA ;CLEAR MEMORY LOCATION
MoV SOHBA R4 ;READ CONTENTS OF BUS ADDRESS
;MEMORY ADDRESS 2
BEQ 2%
Be IDNEHT ;Bb.(BA’. 1 3 ;8US AUDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HT 4 :BYTE COUNT MEMORY ERROR
:ADORESS 2 NOT 0. ERROR
24: SCOPE
XADRS=XADRS +1
XCADRS=XCADRS- 1
MEMT2  +/BA/, t/BUS ADDRESS/,\XADRS,.\XCADRS,177777,%/177771/

sBUS ADDRESS MEMORY DATA TEST
;VERIFY THAT ADDRESS 3 OF BUS ADDRESS MEMORY
sCAN BE SET TO 177777 AND CLEARED TO ©

TS \XN,100,2%¢

T6: MoV £340,PS ;OISAE_E ALL INTERRUPTS

Moy €100, ICOUNT 1SET UP FOR 100 ITERATIONS

MOV 92¢,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
IF N8B <>

MOV #,.FREEZ1 i1SET UP TO LOOP WITH DATA ; 3
.ENDC
XN=XN+1

MOV *177777.R5 sEXPECTED RESULT=177777

MOV 43 ,8DHSCR ;SELECT LOCATION 3

;OF BUS ADDRESS MEMORY
MOV €177777,8DHBA iWRITE 177777 INTO MEMORY




f
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002170
002174
002176
002200
002200

002202
002204
002212

002216
002220
002220

002222

002224

002224
002224
002232
002240

002246
002252

002260
002266
002272
002274
002276
002276

002300
002302
002310
002314

002316
002316

002320

002322

MACRO vO4.00 27-JUN-85 12:49:26 PAGE 19 4

017704
020504
001401

104003

005005
042777
017704

001401
104003

104400
000004
000004

012767
012767
012767

000010
012705
012777

012777
017704
020504
001401

104003
005005
042777
017704
001401
104003
104400

000005
000005

007146

177777 007130
007124

000340
000100
002320

175544
007142
007130

117
000004

177777
0070590

007054
007054

1771717
007026

007032

SeEQ 28

MoV 80HBA, R4 sREAD COKTENTS OF MEMORY LOCATION
CHP R5,R4 1COMPARE EXPECTED AND
BEQ 14 sRECEIVED MEMORY CONTENTS
JIIF IDNEHT ;BA>.<BA>. HLT 3 :BUS ADDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HLT 4 sBYTE COUNT MEMORY ERROR
1s: CLR RS iEXPECTED RESULT AFTER CLEAR=0
B8IC €177777,80HBA sCLEAR MEMORY LOCATION
MoV 80HBA, R4 :READ CONTENTS OF BUS ADDRESS
sMEMORY ADDRESS 3
8EQ 2%
L1IF IDNEHT ;BA>.<BA>. HLT 3 ;BUS ADDRESS MEMORY ERROR
.IIF ION <«BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
:ADDPESS 3 NOT 0, ERROR
2%: SCOPE
XADRS=XADRS +1
XCADRS =XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,¢t/177771/

;BUS ADDRESS MEMORY DATA TEST
;VERIFY THAT ADDRESS 4 OF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED TO O

TS \XN,100,2¢
17:

MOV #340,PS ;:DISABLE ALL INTERRUPTS
MOV €100, ICUUNT ;SET UP FOR 100 ITERATIONS
IF N8 MoV 23 ,ESCAPE 1SET UP TO ESCAPE TO NEXT TEST
. <>
MoV #,FREEZ1 sSET UP TO LOOP WITH DATA 5 3
.ENDC
XN=XN+1
nov €N77,R5 ;EXPECTED RESULT=177777
nov 84, Q0HSCR ;SELECT LOCATION 4
;OF BUS ADDRESS MEMORY
MoV €177777,80HBA :MRITE 177777 INTO MEMORY
MOV SOMBA , R4 ;READ CONTENTS OF MEMORY .QCATION
CcHe R5,R4 ;COMPARE EXPECTED AND
BEQ 13 ;RECEIVED MEMORY CONTEN.S
.IIF IDN ;BA>.‘BA>. HT 3 ;:BUS ADDRESS MEMORY ERROR
EMT
.IIF IDN <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
1s: CLR RS :EXPECTED RESULT AFTER CLEAR=O
BIC #177777,80HBA ;CLEAR MEMORY LOCATION
MOV G0HBA R4 ;READ CONTENTS OF BUS ADDRESS
sMEMORY ADDRESS 4
BEQ 24
.IIF IDN <BA>,<BA>, HT 3 :BUS ADORESS MEMORY ERROR
EmMT 3
.IIF IDN <BA>,<BC>, HLT 4 :BYTE COUNT MEMORY ERROR
tADDRESS 4 NOT 0, ERROR
24: SCOPE
XADRS=XADRS+1
XCADRS=XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,¢/17711%/

;BUS ADDRESS MEMORY DATA TEST
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002322
002322
002330
002336

002344
002350

002356
002364
002370
002372
002374
002374

002376
002400
0C2406

002412
002414
002414

002416

002420

002420
002420
002426
002434

002442
002446

002454
002462
002466
002470
002472
002472

SEQ 29
MACRO VO4.00 27-JUN-85 12:49:26 PAGE 19-S
IVERIFY THAT ADDRESS S OF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,2$
012767 000340 175446 T10: MOV 9340,.PS +DISABLE ALL INTERRUPTS
012767 000100 007044 MOV €100, ICOUNT +SET UP FOR 100 ITERATIONS
012767 002416 07032 IF N8 MOV 928 ,ESCAPE +SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV 9,.FREEZ) :SET UP TO LOOP WITH DATA : 3
000011 XN=XN+1
012705 1777717 MOV @177777,RS ;EXPECTED RESULT=177777
012777 000005 006756 MOV 45 ,80HSCR sSELECT LOCATION S
;:OF BUS ADDRESS MEMORY
012777 177777 006756 MOV €177777,80HBA tWRITE 177777 INTO MEMORY
017704 006752 MOV S0HBA ,R4 :READ CONTENTS (OF MEMORY LOCATION
020504 cMp RS.R4 ;COMPARE EXPECTZD AND
001401 BEQ 1% ;RECEIVED MEMOPY CONTENTS
.IIF IDN <BA>,<BA>, HLT 3 sBUS ADDRESS MEMORY ERROR
104003 EmT 3
.IIF IDN <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
005005 1s: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
042777 177777 006734 81C 9177777,.90HBA sCLEAR MEMORY LOCATION
017704 006730 MOV SDHBA, R4 ;READ CONTENTS OF BUS ADDRESS
sMEMORY ADDRESS S
001401 B8EQ 24
.IIF IDN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF IDN <® "~ ,<BC>, HT 4 ;B8YTE COUNT MEMORY ERROR
;ADDRESS S NOT O, ERROR
104400 2%: SCOPE
000006 XADRS=XADRS+1
000006 XCADRS=XCADRS+1
MEMT2 t/BA/, t/BUS ADDRESS/ ,\XADRS,\XCADRS,177777.¢t/1777711/
;BUS ADDRESS MEMORY DATA TEST
sVERIFY THAT ADDRESS 6 QF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,2¢
012767 000340 175350 Ti1: MOV #340,PS ;DISABLE ALL INTERRUPTS
012767 000100 006746 MoV #.00,ICOUNT ;:SET UP FOR 100 ITERATIONS
012767 002514 006734 IF N8 MOV 429 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZL :SET UP TO LOOP WITH DATA : 3
000012 XN=XN+1
012705 177777 MoV &177777.RS sEXPECTED RESULT=177777
012777 000006 006660 MoV #6 ,8DHSCR :SELECT LOCATION 6
;:0F BUS ADDRESS MEMORY
012777 177777 006660 MoV #177777, 80HBA sMRITE 177777 INTO MEMORY
017704 006654 Moy 80HBA, R4 ;READ CONTENTS OF MEHORY LOCATION
020504 cHpP RS,R4 ; COMPARE EXPECTED AND
001401 BEQ 13 ;sRECEIVED MEMORY CONTENTS
.IIF IDN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF IDN <BA>,<BC>, HLT 4 ;:BYTE COUNT MEMORY ERROR
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002474
072476
002504

002510
002512
002512

062514

002516

002510
002516
002524
002532

002540
002544

002552
002560
002564
002566
002570
002570

002572
002574
002602

002606

002610
002610

002612

002614

002614
002614
002622
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SEQ 30

005005 1s: CLR RS ;EXPECTED RESULT AFTER CLEAR=0Q
042777 L/¢idr 006636 8IC 9177777,8DHGA ;CLEAR MEMORY LOCATION
017704 006632 MoV 80HBA, R4 tREAD CONTENTS OF BUS ADDRESS
;MEMORY ADDRESS 6
001401 BEQ 24
.IIF ICN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ©ERROR
104003 EMT 3
.IIF IDN <BA>,<8C>, HLT 4 ;BYTE COUNT MEMORY ERROR
;ADDRESS 6 NOT 0, ERROR
104400 2%: SCOPE
900007 MADRS=XADRS+1
000007 XCADRS=XCADRS+1
MEMT2  t/BA/.t/BUS ADDRESS/,\XADRS,\XCADRS,177777,¢/1771771/
;BUS ADDRESS MEMORY DATA TEST
sVERIFY THAT ADDRESS 7 OF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,2%
012767 000340 175252 Ti2: MOV 9340,PS ;:DISABLE ALL INTERRUPTS
012767 000100 006650 MOV 2100, ICOUNT :SET UP FOR 100 ITERATIONS
012767 002612 006636 S MOV 928 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
IF '3
ENDC MOV 9,.FREEZ1 :SET UP TO LOOP WITH DATA ; 3
000013 XN=XN+ 1
012705 177777 MOV 2177777 ,RS sEXPECTED RESULT=177777
012777 000007 006562 MOV #7,80HSCR sSELECT LOCATION 7
;0F BUS ADDRESS MEMORY
012777 177777 006562 MOV 2177777, SDHBA ;MRITE 177777 INTO MEMORY
017704 006556 MoV SOHBA, R4 ;:READ CONTENTS OF MEMORY LOCATION
020504 cHp R5,.R4 sCOMPARE EXPECTED AND
001401 BEQ 1s :RECEIVED MEMORY CONTENTS
.IIF IDN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
104003 EMT 3
IIF IDN <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
005005 1%: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
042777 177777 006540 6IC 4177777, 80HBA :CLEAR MEMORY LOCATION
017704 006534 MOV S0HBA R4 ;:READ CONTENTS OF BUS ADDRESS
;MEMORY ADDRESS 7
001401 BEQ 23
.1IF IDN <BA>.<BA>, HLY 3 ;BUS ADDRESS MEMORY ERRCR
104003 ENT 3
.IIF IDN <BA>,<BC>, HLT 4 :BYTE COUNT MEMORY ERROR
sADDRESS 7 NOT O, ERROR
104400 2%: SCOPE
000010 XADRS=XADRS+1
000010 XCADRS=XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,t/177777/
;BUS ADDRESS MEMORY DATA TEST
;VERIFY THAT ADDRESS 10 OF BUS ADDRESS MEMORY
;CAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,24
012767 000340 175154 T13: MOV 9340,PS ;O0ISABLE ALL INTERRUPTS
012767 000100 006552 MoV 2100, ICOUNT ;SET UP FOR 100 ITERATIONS




—
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002630

002636
002642

002650
002656
002662
002664
002666
002666

002670
002672
002700

002704
002706
002706

002710

002712

002712
002712
002720
00272¢

002734
002740

002746
002754
002760
002762
002764
002764

002766
002770
002776

003002
003004

SEQ 31
MACRO “/04.00 27-JUN-85 12:49:26 PAGE 19-7
012767 002710 006540 IF NG MoV #24,ESCAPE :SCT UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ1 :SET UP TO LOOP WITH DATA ; 3
000014 XN=XN+1
012705 177777 MOV #177777,RS :EXPECTED RESULT=177777
012777 000010 006464 MOV ©10, 8DHSCR ;SELECT LOCATION 10
:OF BUS ADDRESS MEMORY
012777 177777 006464 MOV 4177777, 8DHBA ;WRITE 177777 INTO MEMORY
017704 006460 MOV 80HBA, R4 ;READ CONTENTS OF MEMORY LOCATION
020504 cHp R5,.R4 ;COMPARE EXPECTED AND
001401 BEQ 13 ;RECEIVED MEMORY CUNTENTS
.IIF ION <BA>,<BA>, HLT 3 ;:BUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF ION <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERKOR
005005 1¢: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
042777 177777 006442 8IC 4177777, 8DHBA ;CLEAR MEMORY LOCATION
017704 006436 MOV 8DHBA,R4 ;READ CONTENTS OF BUS ADDRESS
;MEMORY ADDRESS 10
001401 BEQ 23
IIF IDN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF IDN <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
;ADDRESS 10 NOT 0, ERROR
104400 24: SCOPE
000011 XADRS=XADRS+1
000011 XCADRS=XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,t/177777/
;BUS ADDRESS MEMORY DATA TEST
:VERIFY THAT ADDRESS 11 OF BUS ADDRESS MEMORY
;CAN BE SET TO 177777 AND CLEARED TO 0
TS \XN,100,2%
012767 000340 175056 T14: MOV #340,PS ;DISABLE ALL INTERRUPTS
012767 000100 006454 MOV €100, ICOUNT :SET UP FOR 100 ITERATIONS
012767 003006 006442 IF e MOV 224 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <
ENOC MOV ?,FREEZ1 ;SET UP TO LOOP WITH DATA i 3
000015 XN=XN+1
012705 177717 MOV #177777,R5 sEXPECTED RESULT=177777
012777 000011 006366 MoV #11,80HSCR :SELECT LOCATION 11
:0F BUS ADDRESS MEMORY
012777 177777 006366 MOV 2177777,8DHBA sWRITE 177777 INTO MEMORY
017704 006362 HOV S0HBA, R4 ;READ CONTENTS OF MEMORY LOCATION
020504 CcHP RS ,R4 ;COMPARE EXPECTED AND
001401 BEQ 14 ;RECEIVED MEMORY CONTENTS
.IIF IDN <BA>,<BA>, HLY 3 iBUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF IDN <BA>,<BC>, HLT 4 :BYTE COUNT MEMORY ERROR
005005 1s: CLR R5 :EXPECTED RESULT AFTER CLEAR=0
042777 177777 006344 8IC 9177777,8DHBA ;CLEAR MEMORY LOCATION
017704 006340 MoV 80HBA, R4 sREAD CONTENTS OF BUS ADDRESS
:MEMORY ADDRESS 11
001401 8EQ 2%
.IIF IDN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR

-
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co

003004

003006

003010

003010
003010
003016
G03024

0C€ 3032
003036

0C3044
003052
003056
003060
0030€2
003062

003064
003066
003074

003100

003102
003102

003104

003106

003106
002106
003114
003122

003130

SEQ 32
MACRO V04.00 27-JUN-85 12:49:26 PAGE 19-8

104003 EMT 3
.I1IF IDN <BA>,<B(C>, HLT 4 ;:BYTE COUNT MEMORY ERROR
;ADDRESS 11 NOT 0, ERROR
104400 24: SCOPE
000012 XADRS=XADRS+1
000012 XCADRS=XCADRS+1
MEMT2  +/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777.t+/177777/
;:BUS ADDRESS MEMORY DATA TEST
;VERIFY THAT ADDRESS 12 OF BUS ADDRESS MEMORY
;CAN BE SET TO 177777 AND CLEARED TO 0
TS5 \XN,100,24%
012767 000340 174760 T1i5: MOV 4340,PS ;DISABLE ALL INTERRUPTS
012767 000100 006356 MOV 2100, ICOUNT :SET UP FOR 100 ITERATIONS
012767 (03104 006344 IF Ne MOV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ)L ;SET UP TO LOOP WITH DATA ; 3
000016 XN=XN+1
012705 177777 MOV #177777,R5 sEXPECTED RESULT=177777
012777 000012 006270 MOV #12, 8DHSCR sSELECT LOCATION 12
;OF BUS ADDRESS MEMORY
012777 1777177 006270 MOV 177777, 8DHBA sWRITE 177777 INTO MEMORY
017704 006264 MOV 8DHBA R4 ;READ CONTENTS OF MEMORY LOCATIOMN
020504 cMP RS ,R4 ;COMPARE EXPECTED AND
001401 BEQ 14 ;RECEIVED MEMORY CONTENTS
.IIF IDN <BA>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
104003 €M7 3
.IIF ION <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
005005 is: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
042777 177777 006246 BIC #177777,80HBA ;:CLEAR MEMORY LOCATION
017704 006242 MOV SOHBA , R4 ;READ CONTENTS OF BUS ADDRESS
:MEMCRY ADDRESS 12
00140i BEQ 2%
.1IF IDN <BA>,<BA>, HT 3 ;:BUS ADDRESS MEMORY ERROR
104003 CwT 3
.IIF IDN <BA>,<BC>, HT 4 ;:BYTE COUNT MEMORY ERROR
;ADDRESS 12 NOT O, ERROR
104400 2%: SCOPE
000013 XADRS=XADRS +1
000013 XCADRS=XCADRS +1
MEMT2 */BA/, t/BUS ADDRESS/ ,\XADRS,\XCADRS,177777.t/177111/
:BUS ADDRESS MEMORY DATA TES1
;VERIFY THAT ADDRESS 13 OF BUS ADDRESS MEMORY
;CAN BE SET TO 177777 AND CLEARED T0 O
TS \XN,100,2¢%
012767 000340 174662 T16: MOV #340,PS ;DISABLE ALL INTERRUPTS
012767 000100 006260 MOV €100, ICOUNT :SET UP FOR 100 ITERATIONS
012767 003202 006246 NS MOV #2%,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
JIF <>
MOV #,FREEZL +SET UP TO LOOP WITH DATA : 3
.ENDC
000017 XN=XN+1
012705 177777 MOV a77777,RS sEXPECTED RESULT=177777




Cz0HB CO

003134

003142
003150
003154
003156
003160
003160

003162
003164
003172

003176
003200
03200

003202

003204

003204
003204
003212
003220

003226
003232

003240
003246
003252
003254
003256
003256

003260
003262
003270

003274

003276
003276

003300
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012777

012777
017704
020504
001401

104003

005005
042777
017704

001401
104003

104400
000014
000014

012767
012767
012767

000020
012705
012777

012777
017704
020504
001401

104003
005005
042777
017704
001401
104003
104400

000015
000015

000013

171777
006166

1771717
006144

000340
0v0100
003300

177711
000014

177777
006070

17771717
006046

006172
006172

006150

174564
006162
006150

006074
006074

006052

SEQ 33

MOV 913, 80HSCR ;SELECT LOCATION 13
;0F BUS ADDRESS MEMORY
MOV 9177777, 8DHBA ;WRITE 177777 INTO MEMORY
MOV 80HBA , R4 ;READ CONTENTS OF MEMORY LOCATION
CMP R5,.R4 ;COMPARE EXPECTED AND
BEQ 13 ;RECEIVED MEMORY CONTENTS
JIIF IDNEHT ;BA>.<BA>. HLY 3 ;BUS ADDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HLT 4 :BYTE LOU.T MEMORY ERROR
1s: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
8IC #177777,8D8BA ;CLEAR MEMORY LOCATION
MoV S0HBA, R4 ;:READ CONTENTS OF BUS ADDRESS
;MEMORY ADDRESS 13
BEQ 23
IIF IDNEHT ;BA>.<8A>. HLT 3 :8US ADDRESS MEtIORY ERROR
.IIF IDN <BA>,<BC»>, HLT 4 ;:BYTE COUNT FEMORY ERROR
;ADORESS 13 NOT O, ERROR
24: SCOPE
XADRS=XADRS 1
XCADRS =XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/.\XADRS,\XCADRS,177777,¢/177771/

;BUS ADDRESS MEMORY DATA TEST
:VERIFY THAT ADDRES-> 14 OF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED TO 0

TS \XN,100,2%
MOV

T17: #340,PS ;DISABLE ALL INTERRUPTS
MOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS
_— MOV #2%,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. <
MOV #,FREEZL ;SET UP TO LOOP WITH DATA ; 3
.ENDC
XN=XN+1
MOV S17717177.R5 SEXPECTED RESWT=177777
MOV #14, BDHSCR +SELECT LOCATION 14
;OF BUS ADDRESS MEMORY
MOV #177777,80HBA sWRITE 177777 INTO MEMOR'Y
MoV SDHBA R4 ;READ CONTENTS OF MEMORY LOCATION
cMp R5.R4 ; COMPARE EXPECTED AND
BEQ 1 ;:RECEIVED MEMORY CONTENTS
.IIF 1DN ;BA>.<BA>. HT 3 ;:BUS ADDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HLY a ;BYTE COUNT MEMORY ERROR
1¢: CLR RS ;EXPECTED RESULT AFTER CLEAR=O
RIC #177777,80HBA ;1CLEAR MEMORY LOCAIION
MOV SOHBA,R4 :READ CONTENTS OF BUS ADDRESS
;MEMIORY ALDRESS 14
BEQ 23
JAIF IDNE . ;BA’.‘BR>. W 3 :BUS ADDRESS MEMORY ERROR
M
.IIF ION <BA>,<BC»>, HT 4 ;BYTE COUNT MEMORY ERROR
sADDRESS 14 NOT O, ERROR
24: SCOPE
XADRS=XADRS+1
XCADRS=XCADRS+1
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003302

003302
003302
003310
003316

003324
003330

003336
003344
003350
003352
003354
003354

003356
003360
003366

003372
003374
003374

003376

003400

003400
003400
003406
003414

003422
003426

003434
003442
003446
003450

SEQ 34

MACRO V04.00 27-JUN-85 12:49:26 PAGE 19-10

012767
012767
012767

000021
012705
012777

012777
017704
020504
001401

104003

005005
042777
017704

001401
104003

104400
000016
000016

012767
012767
012767

000022
012705
012777

01271
017704
020504
001401

000340
000100
003376

177
000015

17N
005772

177777
005750

000340
000100
003474

177N
000016

117mnm
005674

174466
006064
006052

005776
005776

005754

174370
005766
005754

005700
005700

MEMT2  t/BA/, t/BUS ADDRESS/,\XADRS,\XCADRS,177777,t/177777/
;BUS ADDRESS MEMORY DATA TEST
{VERIFY THAT ADORESS 1S OF BUS ADDRESS MEMORY
sCAN BE SET TO 177777 AND CLEARED TO 0
TS \XN,100,2%
T20: MoV 340,PS sDISABLE ALL INTERRUPTS
MOV €100, ICOUNT :SET UP FOR 100 ITL:RATIONS
IF e MOV @28 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. <>
MOV n FREEZ21 ;SET UP TO LOOP WITH DATA i 3
.ENDC
XN=XN+1
MOV @177777,RS sEXPECTED RESULT=177777
MoV #15, 5DHSCR :SELECT LOCATION 1S
:0F BUS ADDRESS MEMORY
MOV 9177777, 80HBA sWRITE 177777 INTO MEMORY
Hov S8OHBA, R4 ;READ CONTENTS OF MEMORY LOCATION
cHe R5,R4 :COMPARE EXPECTED AND
BEQ 13 :RECEIVED MEMORY CONTENTS
IIF IDNEHT ;8A>.<8A>. HLT 3 ;BUS ADDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HT 4 ;BYTE COUNT MEMORY ERROR
1%: CLR RS sEXPECTED RESULT AFTER CLEAR=0
8IC 8177777, 80HBA ;CLEAR MEMORY LOCATION
Hov SOHBA, R4 ;READ CONTENTS OF 3US ADDRESS
;MEMORY ADDRESS 15
8EQ 23
IIF IDNEHT ;BA).<8A>. HLY 3 :BUS ADDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HY 4 ;BYTE COUNT MEMORY ERROR
;ADDRESS 15 NOT O, ERROR
2% SCOPE
XADRS=XADRS+1
XCADRS =XCADRS « 1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777.t/177777/

1BUS ADDRESS MEMORY DATA TEST
sVERIFY THAT ADORESS 16 OF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED T0 O

TS \XN,100,2%

T121: MOV #340.PS ;DISABLE ALL INTERRUPTS
MoV 4100, ICOUNT :SET UP FOR 100 ITERATIONS
- MOV 24 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
I <>
MoV #,.FREEZL ;SET UP TO LOOP WITH DATA F
.ENOC
XNsXN+1
MoV @177777,R5 sEXPECTED RESWLT=177777
MOV #16,80HSCR 1SELECT LOCATION 16
10F BUS ADDRESS MEMORY
MoV #177777,80HBA sWRITE 177777 INTO MEMORY
Hov SOHBA, R4 ;READ CONTENTS OF MEMORY LOCATION
cHMP RS.R4 :COMPARE EXPECTED AND
BEQ 18 sRECEIVED MEMORY CONTENTS
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003452
003452

003454
003456
003464

003470
003472
003472

003474

003476

003476
003476
0C3504
003512

003520
003524

003532
003540
003544
003546
003550
003550

003552
003554
003562

003566

003570
003570

003572
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104003

005005
042777
017704

001401
104003

104400
000017
000017

012767
012767
012767

000023
012705
012777

012777
017704
020504
001401

104003

005005
042777
017704

001401
104003

104400
000020
000020
000000
000000
000000
000000
000020

177777 005656
005652

174272
005670
005656

000340
000100
003572

1777717
000017

177777
005576

005602
005602

177777
005554

005560

SEQ 35

IIF IDNEHT ;BA>.<8A>. HLT 3 ;BUS ADDRESS MEMORY ERROR
.IIF IDN <BA>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
14: CLR RS ;EXPECTED RESULT AFTER CLEARsQ
8IC 9177777, 8DHBA ;CLEAR MEMORY LOCATION
MoV 80HBA,R4 ;READ CONTENTS OF BUS ADDRESS
sMEMORY ADDRESS 16
BEQ 24
JIIF IDNE . ;BA>.<BA>. HLT 3 ;BUS ADDRESS MEMORY ERROR
M
.IIF IDN <BA>,<BC>, HLT 4 :BYTE COUNT MEMORY ERROR
;ADDRESS 16 NOT O, ERROR
24: SCOPE
XADRS=XADRS+1
XCADRS=XCADRS+1
MEMT2  t/BA/,t/BUS ADDRESS/,\XADRS,\XCADRS,177777,%t/177771/

;BUS ADDRESS MEMORY DATA TEST
;VERIFY THAT ADDRESS 17 OF BUS ADDRESS MEMORY
:CAN BE SET TO 177777 AND CLEARED 10 ©

TS \XN,100,2¢
T22: MOV

IF N8 o

.ENDC
XN=XN+1

.IIF IDN
EMT

.IIF IDN
CLR

1$:
8IC
MOV

8EQ
.IIF IDN

EMT
.IIF IDN

2%: SCOPE
XADRS=XADRS+1

XCADRS=XCADRS+1

XPDRS=0
XCADRS =0
ADRS=XADRS
CADRS=XCADRS
REPT 16,
MEMT2

4340,PS
€100, ICOUNT
924 ,ESCAPE

¢ ,FREEZ2)
€177777.RS
€17, 80HSCR
9177777,80HBA
SOHBA, R4
RS.R4

1s

<BA> ,<BA>,
3
<BA>,<BC>,
RS

0177777, 80HBA
SOHBA, R4

24
<BA> ,<BA>,

3
<BA>,<BC>,

HT
T

HT
HT

;0ISABLE ALL INTERRUPTS
;SET UP FOR 100 ITERATIONS
1SET UP TO ESCAPE TO NEXT TEST

;SEY UP TO LOOP WITH DA™A ;3

;EXPECTED RESULT=177777

sSELECT LOCATION 17

:0F BUS ADDRESS MEMORY

sMRITE 177777 INTC “EMORY

:READ CONTENTS OF MEMORY LOCATION
;:COMPARE EXPECTED AND
:RECEIVED MEMORY CONTENTS
3 ;BUS ADDRESS MEMORY ERROR

4 ;BYTE COUNT MEMORY ERROR
sEXPECTED RESULT AFTYER CLEAR=0

;CLEAR MEMORY LOCATION

:READ CONTENTS OF BUS ADDRESS

:MEMORY ADDRESS 17

3 iBUS ADDRESS MEMORY ERROR

4 ;BYTE COUNT MEMORY ERROR
sADDRESS 17 NOT O, ERROR

t/8C/, t/BYTE COUNT/,\XADRS ,\XCAORS, 177777, /17777717
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003574

03574
003574
003602
003610

003616
003622

003630
003636
003642
003644

003646
003646
003650
003652
003660

003664

003666
003666

003670

003672

003672
003672
003700
003706

003714
003720
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012767
012767
012767

000024
012705
012777

012777
017704
020504
001401

104004
005005
042777
017704

001401

104004

104400
000001
000001

012767
012767
012767

000025
012705
012777

000340
000100
003670

1777717
000000

1777717
005502

177777
005460

000340
000100
003766

1777117
000001

174174
005572
005560

005504
005506

005464

174076
005474
005462

005406

.NLIST
XADRS=XADRS+1

XCADRS »XCADRS+1

.LIST
.ENDR
MEMT2

SEQ 36

t/BC/,+/BYTE COUNT/,\XADRS,\XCADRS,177777,+/177777/
;BYTE COUNT MEMORY DATA TEST

;VERIFY THAT ADDRESS O OF BYTE COUNT MEMORY
:CAN BE SET TO 177777 AND CLEARED TO 0

TS \XN,100,2%
T23:

#340,PS
2100, ICOUNT
#2%,ESCAPE

#,FREEZL

9177777.RS
#0,8DHSCR

#177777,8DHBC
80HBC,R4
RS.R4

1¢

<BC»>,<BA>,
<BC>,<BC»>,

4

RS
9177777,80HBC
S0HBC, R4

23
<BC>,<BA>,
<BC>,<BC>,
4

HLT
HLT

HLT
HLT

:DISABLE ALL INTERRUPTS
;SET UP FOR 100 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

;EXPECTED RESULT=177777
:SELECT LOCATION O

:0F BYTE COUNT MEMORY
;WRITE 177777 INTO MEMORY

;READ CONTENTS UF MEMORY LOCATION
; COMPARE. EXPECTED AND
éRECEIVED MEMORY CONTENTS

;EXPECTED RESULT AFTER CLEAR=0
;CLEAR MEMORY LOC:.TION

:READ CONTENTS OF BYTE COUNT
;MEMORY ADORESS 0

3 :BUS ADDRESS MEMORY ERROR
4 ;:BYTE COUNT MEMORY ERROR

sACDRESS O NOT O, ERROR

t/8C/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,t/177777/
:BYTE COUNT MEMORY DATA TEST

;VERIFY THAT ADDRESS 1 OF BYTE COUNT MEMORY
sCAN BE SET TO 177777 AND CLEARED TO O

MOV
MOV
MOV
JEFNB o
MOV
.ENDC
XN=XN+1
MoV
MOV
MOV
MOV
CHP
B8EQ
.IIF IDN
.IIF IDN
EMT
1s: CLR
8IC
MOV
BEQ
.IIF IDN
.IIF IDN
EMT
2%: SCOPE
XADRS=XADRS+1
XCADRS=XCADRS+1
MEMT2
TS \XN,100,2¢
T24: MOV
MoV
MOV
FNB o
MOV
.ENDC
XN=XN+1
MoV
MOV

2340,PS
9100, ICOUNT
924 ,ESCAPE

#,FREEZL

#177777,RS
#1,80HSCR

sDISABLE ALL INTERRUPTS
:SET UP FOR 100 ITERATIONS
;SET UP TU ESCAPE TO NEXT TEST

;SET JP TO LOOP WITH DATA : 3

;EXPECTED RESULT=177777
;:SELECT LOCATION 1

;:BUS ADDRESS MEMORY ERROR
4 ;:BYTE COUNT MEMORY ERROR
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003726
003734
003740
003742

003744
003744
003744
003730
003756

003762

003764
003764

003766

003770

003770
003770
003776
004004

004012
004016

004024
004032
004036
004040

004042
004042
004044
004046
004034
004060

004062
004062

004064

004066
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012777
017704
020504
001401

104004
005005
042777
017704

001401

104004

104400
000002
000002

012767
012767
012767

000026
012705
012777

012777
017704
020504
001401

104004
005005
042777
017704

001401

104004

104400
000003
000003

177777 005410
005404

177777 005366
005362

174000
005376
005364

000340
000100
004064

1777177
000002

177777
005306

005310
005312

177777
005264

005270

12:49:26 PAGE 19-13

SeQ 37

:0F BYTE COUNT MEMORY

MOV 0177777,80HBC ;WRITE 177777 INTC MEMORY
MOV s0HBC,R4 ;READ CONTENTS OF MEMORY LOCATION
cHp RS.R4 ;COMPARE EXPECTED AND
BEQ 1s ;RECEIVED MEMORY CONTEMTS
JIIF ION <BC>,<8A>, HLT 2 ;BUS ADDRESS MEMORY ERROR
JIIF IDNEHT ;BC>.<BC>. HT 4 sBYTE COUNT MEMORY ERROR
1$: CLR RS sEXPECTED RESULT AFTER CLEAR=0O
BIC 0177777,80HBC ;CLEAR MEMORY LOCATION
MOV 80HBC, R4 sREAD CONTENTS OF BYTE COUNT
;MEMORY ADDRESS 1
BEQ 24
.IIF IDN <BC>,<BA>, HLT 3 1BUS ADDRESS MEMORY ERROR
JIXIF IDNEHT ;BC’.‘-BC’. HLT ) tBYTE COUNT MEMORY ERROR
;ADDRESS 1 NOT O, ERROR
2%: SCOPE
XADRS=XADRS+1
XCADRS=XCADRS+1
MEMT2 t/8C/,t/BYTE COUNT/ ,\XADRS,\XCADRS,177777.t/177771/
sBYTE COUNT MEMORY DATA TEST
;VERIFY THAT ADDRESS 2 OF BYTE COUNT MEMORY
3CAN BE SET TO 177777 AND CLEARED T0 ©
TS \XN,100,2%
125: MOV 4340,PS ;DISABLE ALL INTERRUPTS
MOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS
IF N MOV 424 ,ESCAPE ;:SET UP TO ESCAPE TO NEXT TEST
. <>
MOV o,FREEZ21 ;SET UP TO LOOP WITH DATA ;1 3
.ENDC
XN=XN+1
MOV 9177777,RS ;EXPECTED RESULT=177777
MOV #2,80HSCR sSELECT LOCATION 2
:0F BYTE COUNT MEMORY
MOV #177777,80HBC sWRITE 177777 INTO MEMORY
MOV SOHBC ,R4 sREAD CONTENTS OF MEMORY LOCATION
cHp RS.R4 sCOMPARE EXPECTED AND
BEQ 1s sRECEIVED MEMORY CONTENTS
.IIF IDN <BC>,<BA>, HLT 3 :1BUS ADORESS MEMORY ERROR
JITF IDNEHT :BC’.‘BC’. T 4 $1BYTE COUNT MEMORY ERROR
1s: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
8IC #177777,80HBC sCLEAR MEMORY LOCATION
MOV SOHBC, R4 ;READ CONTENTS OF BYTE COUNT
sMEMORY ADDRESS 2
BEQ 24
.IIF 1IDN <BC>,<BA>, HY 3 sBUS ADDRESS MEMORY ERROR
.IIF IDN . <8C>,<BC>, HLT 4 sBYTE COUNT MEMORY ERROR
(1] 4
;ADDRESS 2 NOT 0, ERRCR
24: SCOPE
XADRS=XADRS+1
XCADRS =XCADRS+1
MEMT?2 t/8C/.t/BYTE COUNT/,\XADRS ,\XCADRS ,177777,¢/177171/
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004066

004066
004074
004102

004110
004114

004122
004130
004134
004136

004140
004140
0C4142
004144
004152

004136

004160
004160

004162

004164

004164
004164
004172
004200

004206
004212

004220
004226
004232
004234

8
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;BYTE COUNT MEMORY DATA TEST
;VYERIFY THAT ADDRESS 3 OF BYTE COUNT MEMORY
;CAN BE SET TO 177777 AND CLEARED TO 0

TS \XN,100,24
012767 000340 173702 T26: Moy #340,PS ;OISABLE ALL INTERRUPTS
012767 000100 0C5300 MoV #100, ICOUNT :SE™ UP FOR 100 ITERATIONS
012767 004162 005266 _— MoV #24 ,ESCAPE ;:SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MOV ¢, FREEZL ;SET UP TO LOOP MWITH DATR 3
000027 XN=XN+1
012705 177777 MOV €177777,RS ;EXPECTED RESULT=177777
012777 000003 005212 MoV @3 ,8DHSCR :SELECT LOCATION 3
;OF BYTE COUNT MEMORY
012777 177777 005214 MoV #177777,80HBC sWRITE 177777 INTO MEMORY
017704 005210 MOV SOHBC, R4 :READ CONTENTS OF MEMORY LOCATION
020504 CcHP R5,R4 ;COMPARE EXPECTED AND
001401 BEQ 1s ;RECEIVED MEMORY CONTENTS
.IIF IDN <BC»>,<BA»>, HLT 3 1BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC»>, HLT 4 1BYTE COUNT MEMORY ERROR
104004 EMT 4
005005 1s: CLR RS ;EXPECTED RESULY AFTER CLEAR~0
042777 177777 005172 8IC €177777,80HBC ;:CLEAR MEMORY LOCATION
017704 (05166 MOV SOHBC, R4 ;READ CONTENTS OF BYTE COUNT
tMEMORY ADDRESS 3
001401 BEQ 2
.IIF IDN <BC>,<BA>, HLT 3 1BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC>, HLT 4 1BYTE COUNT MEMORY ERROR
104004 EMT 4
sADDRESS 3 NOT O, ERROR
104400 2%: SCOPE
000004 XADRS=XADRS+1
000004 XCADRS=XCADRS +1
MEMT2  t/BC/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,¢/177771/
;BYTE COUNT MEMORY DATA TEST
sVERIFY THAT ADDRESS 4 OF BYTE COUNT MEMORY
1CAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,.2%
012767 000340 173604 T27: MoV #340,PS sDISABLE ALL INTERRUPTS
012767 000100 005202 MOV €100, ICOUNT 1SET UP FOR 100 ITERATIONS
012767 004260 005170 IF N8 MOV #24 ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MoV #,FREEZ) ;SET UP TO LOOP WITH DATA : 3
000030 XN=XN+1
012705 177777 MOV #177777,RS sEXPECTED RESULT=177777
012777 000004 005114 nov &4, Q0HSCR sSELECT LOCATION 4
;0F BYTE COUNT MEMORY
012777 177777 005116 MOV #177777,80HBC sWRITE 177777 INTO MEMORY
017704 005112 MoV S0HBC,.R4 sREAD CONTENTS OF MEMORY LOCATION
020504 cHP R5,R4 ;COMPARE EXPECTED AND
001401 BEQ 14 ;RECEIVED MEFORY CONTENTS
.IIF ION <BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR




004262
004262
004270
004276

S€Q 39
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.IIF IDN <BC>,<BC>, HT 4 iBYTE COUNT MEMORY ERROR
104004 EMT 4
005005 Js: CLR RS iEXPECTED RESULT AFTER CLEAR=0
042777 177777 "™05074 8IC #177777,80HBC sCLEAR MEMORY LOCATION
017704 003070 MoV 80HBC,R4 ;READ CONTENTS OF BYTE COUNT
sMEMORY ADDRESS 4
001401 3EQ 24
.IIF IDN <BC>,<BA>, HT 3 :BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC>, L 8 4 :BYTE COUNT MEMORY ERROR
104004 EMT 4
sADDRESS 4 NOT O, ERROR
104400 2% SCOPE
000005 XADRS=XADRS+1
000005 XCADRS=XCADRS+ 1

MEMT2  t/BC/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,t/3777771/

:BYTE COUNT MEMORY DATA TEST
;VERIFY THAT ADDRESS 5 OF BYTE COUNT MEMORY
sCAN BE SET TO 177777 AND CLEARED TO O

TS \XN,100,24
MOV

012767 000340 173506 T30: #340,PS
012767 000100 005104 MOV #200, ICOUNT
012767 004356 005072 MOV #24 ,ESCAPE
AFNB o
MOV #,FREE21
.ENDC
000031 XN=XN+1
01270% 1717777 MOV #177777.85
012777 000005 005016 MOV #5,80HSCR
012777 177777 005020 MOV #177777,680HBC
017704 005014 MOV SOHBC,R4
020504 cne RS,R4
001401 BEQ 14
.IIF IDN <«BC>,<BA>, HT
.IIF IDN <BC>,<BC»>, HT
104004 Ent 4
005005 14: CLR RS
042777 177777 004776 8IC #177777,80HBC
017704 004772 MOV SDHBC, R4
001401 BEQ 24
.IIF IDN <BC>.<BA>, HT
.IIF IDN <BC>,<BC>, HT
104004 eny 4
104400 24: SCOPE
000006 XADRS=XADRS+1
000006 XCADRS*XCADRS+1

;DISABLE ALL INTERRUPTS
1SET UP FOR 100 ITERATIONS
+SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA i 3

sEXPECTED RESULT=177777

$SELECT LOCATION 5

10F BYTE COUNT MEMORY

tWRITE 177777 INTO MEMORY

sREAD CGNTENTS OF MEMORY LOCATION

sCOMPARE EYPECTED AND

sRECEIVED MEMORY CONTENTS

3 1BUS ADDRESS MEMORY ERROR
4 1BYTE COUNT MEMORY ERROR

1EXPECTED RESULT AFTER CLEAR=0
1CLEAR MEMORY LOCATION

sREAD CONTENTS OF BYTE COUNT
sHEMORY ADORESS S

3 1BUS ADDRESS MEMORY ERROR
4 1BYTE COUNT MEMORY ERROR

1ADDRESS 5 NOT O, ERROR

MEMT2  +/8C/,.t/BYTE COUNT/,\XADRS,\XCADRS,177777, ¢t/377171/

1BYTE COUNT MEMORY DATA TEST
tVERIFY THAT ADORESS 6 OF BYTE COUNT MEMORY
1CAN BE SET TO 177777 AND CLEARED TO O

TS \)XN,100,2¢

u———
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004360
004366
004374

004500
004504

004512
004520
004524
004526

004530
004530
004532
004534
004542

SEQ 40
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012767 000340 173410 T31: MOV 0340,PS 1DISABLE ALL INTERRUPTS
012767 000100 005006 MoV €100, ICOUNT sSET UP FOR 100 ITERATIONS
012767 004454 004774 — MoV 023 ,ESCAPE $SET UP TO ESCAPE TO NEXT TEST
. <>
ENOC MoV ¢ FREEZ} 1SET UP TO LOOP WITH DATA i 3
000032 XN=XN+1
012705 177777 MOV 0177777.RS 1EXPECTED RESULT=177777
012777 000006 004720 MOV #6, 9DHSCR sSELECT LOCATION 6
i0F BYTE COUNT MEMORY
012777 177777 004722 MOV 9177777,80H8C :WRITE 177777 INTO MEMORY
017704 004716 MOV 80HBC, R4 ;READ CONTENTS OF MEMORY LOCATION
020504 CHP RS5,R4 :COMPARE EXPECTED AND
001401 BEQ 13 ;RECEIVED MEMORY CONTENTS
.1IF IDN <«BC>,<BA>, HLT 3 :BUS ADDRESS MEMORY ERROR
.1IF IDN <BC>,<BC>, HLT 4 :BYTE COUNT MEMORY ERROR
104004 EMT 4
005005 1s: CLR RS ;EXPECTED RESULT AFTER CLEAR=Q
042777 177777 004700 8IC 0177777,80HBC ;:CLEAR MEMORY LOCATION
017704 004674 MOV S0HBC,R4 ;READ CONTENTS OF BYTE COUNT
:MEMORY ADDRESS 6
001401 BEQ 23
.1IF IDN <BC>,<BA>, HT 3 ;BUS ADDRESS MEMORY ERROR
JIIF IDM <BC>,<BC>, HT 4 ;BYTE COUNT MEMORY ERROR
104004 EMT 4
;ADDRESS 6 NOT 0, ERRCR
104400 2s: SCOPE
000007 XADRS=XADRS+1
000007 XCADRS=XCADRS+1
MEMT2  t/BC/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,¢/177771/
sBYTE COUNT MEMORY DATA TEST
sVERIFY THAT ADDRESS 7 OF BYTE COUNT MEMORY
sCAN BE SET TO 177777 AND CLEARED TO O
TS \XN,100,24
012767 000340 173312 T32: mov #340.PS sDISABLE ALL INTERRUPTS
012767 000100 004710 MOV €100, ICOUNT sSET UP FOR 100 ITERATIONS
012767 004552 004676 _— MOV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. ¢
ENOC MoV 4,FREEZ2Y 1SET UP TO LOOP MITH DATA : 3
000033 XN=XN.1
012705 177777 MOV 077777,R5 sEXPECTED RESULT=177777
012777 000007 004622 MoV 47,80HSCR :SELECT LOCATION 7
10F BYTE COUNT MEMORY
012777 177777 004624 MOV #177777,80HBC sWRITE 177777 INTO MEMORY
017704 004620 MOV S0HBC, R4 tREAD CONTENTS OF MEMORY LOCATION
020504 cHp R5,R4 ;COMPARE EXPECTED AND
001401 8EQ 13 sRECEIVED MEMORY CONTENTS
-IIF IDN <BC>,<BA>, HT 3 ;BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
104004 EMT 4
005005 1¢: CLR RS 1EXPECTED RESULT AFTER CLEAR=0
042777 177777 004602 8IC #177777,80H8C ;:CLEAR MEMORY LOCATION
017704 004576 MoV @0HBC, R4 tREAD CONTENTS QF BYTE COUNT

{MEMORY ADDRESS 7




CZ0MB8 -CO

004546

004550
004550

004552

004554

004554
004554
004562
004570

004576
0C4602

004610
004616
004622
04624

004626
004626
004630
004632
004640

004644

004646
004650

004652

004652
004552
004660
004666

MACRO V04.00 27-JUN 85 12:49:26 PAGE 19 17

001401

104004

104400
000010
000010

012767
012767
012767

000034
012705
012777

012777
017704
020504
001401

104004
0050035
042777
017704

001401

104004

104100
000011
000011

012767
012767
012767

173214
004612
004600

000340
000100
004650

1mnmn
000010

1777717
004522

004524
004526

177777
004500

004504

000340 173116
000100 004514
004746 004502

BEQ
IIF IDN
.IIF IDN

EMT

2%: SCOPE
XADRS=XADRS + 1

XCADRS=XCADRS +1
t/8C/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,¢/177777/

sBYTE COUNT MEMORY DATA 1EST

MEMT2

2%

«B8C>,<BA>,

<BC>,<BC>,
4

HLT
H.T

SEQ 41

3 sBUS ADDRESS MEMORY ERROR
4 ;BYTE COUNT MEMORY ERROR

sADDRESS 7 NOT O, ERROR

i VERIFY THAT ADDRESS 10 OF BYTE COUNT MEMORY
;CAN BE SET TO 177777 AND CLEARED 19 O

TS \Xw,100,2%
T33: MOV
MOV

MOV
JIF NB <

MOV
.ENDC
XN=XN«1

MoV

MoV

MOV
MOV
P
BEQ
.1IF IDN
.IIF IDN
EMT
18: CLR
BIC
MoV

BEQ
JIIF IDN
.IIF ION

EnY

2%: SCOPE
XADRS«XADRS « 1

XCADRS=XCADRS+1
+/8C/7,t/BYTE COUNT/ ,\XADRS ,\XCADRS,1777772,t/1277171/

:BYTE COUNT MEMORY DATA TEST

MEMT2

340 ,PS
€100, ICOUNT
023 ,ESCAPE

©,FREEZL

€177777,.RS
910, 8DHSCR

177777, 80H8C
SDHBC, R4

RS ,R4

1}

<BC>,<BA>,
<«BC>,<BC>,

4

RS
€177777,80H8C
SDHBC, R4

23
<BC>,<BA>,
<8C>,«B0>,
4

HLT
HT

HLT
T

1DISABLE ALL INTERRUPTS
:SET UP FOR 100 ITERATIONS
sSET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA

w

;EXPECTED RESULT=177777

sSELECT LOCATION 10

;0F BYTE COUNT MEMORY

sHRITE 177777 INTO MEMORY

;READ CONTENTS OF MEMORY LOCATION
:COMPARE EXPECTED AND
;RECEIVED MEMORY CONTENTS
3 ;BLS ADDRESS MEMORY ERROR
4 ;BYTE COUNT MEMORY ERROR

;EXPECTED RESWRT AFTER (LEAR=0
;CLEAR MEMORY _LOCATION

:READ CONTENTS OF BYTE COUNT
;MEMORY ADDRESS 10

3 :BUS ADDRESS MEMORY ERROR
4 ;BYTE COUNT MEMORY ERROR

sADDRESS 10 NOT », ERROR

;VERIFY THAT ADDRESS 11 OF BYTE COUNT MEMORY
sCAN BE SET YO 177777 AND CLEARED TO O

TS \XN,100,2%
MOV

T34:
MOV
MOV
JOFNB o
MOV

.ENDC

#340,P5
€100, ICOUNT
028 ,ESCAPE

#,.FREEZ1

1DISABLE ALL INTERRUPTS
sSET UP FOR 100 ITERATIONS
1SET UP TO ESCAPE TO NEXT TEST

1SET UP TO LOOP WITH DATA

Ly
w

r




CZ0HB-CO

004674
004700

0047G6
004714
004720
004722

004724
004724
004726
004730
004736

004742

004744
004744

004746

0C4750

004750
004750
004756
004764

004772
004776

005004
005012
005016
005020

005022
005022
005024
005026
005034

005040

005042
005042

005044
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000035
012705
012777

012777
017704
020504
001401

104004
005005
042777
017704

001401

104004

104400
000012
000012

012767
012767
012767

000036
012705
012777

012777
017704
020504
001401

104004
005005
042777
017704

001401

104004
104400

17717
00011

111717
004424

1777717
0044C2

000340
000100
005044

1777717
000012

11nn
004326

17777
004304

004426
004430

004406

173020
004416
004404

004330
004332

004310

SEQ 42

XN=XN+1
MOV 9177777,RS ;EXPECTED RESULT=177777
MoV 911, 80HSCR ;SELECT LOCATION 11
;OF BYTE COUNT MEMORY
MOV 9177777, 90HBC sWRITE 177777 INTO MEMORY
MoV 8DHBC,R4 ;READ CONTENTS OF MEMORY LOCATION
CcHp RS.R4 ;:COMFARE EXPECTED AND
8EQ 14 ;sRECEIVED MEMORY CONTENTS
.IIF ION <«BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
J1IF IDNEHT ;BC’.‘BC’. HLT 4 sBYTE COUNT MEMORY ERROR
13: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
B8IC 9177777, 80HBC s CLEAR MEMORY LOCATION
MOV 80HBC,R4 {READ CONTENTS OF BYTE COUNT
;MEMORY ADDRESS 11
BEQ 24
IIF IDN <BC>,<BA>, HLT 3 ;:BUS ADDRESS MEMORY ERROR
JIIF IDNF%T <«BC>,<«BC>, HLT 4 ;:BYTE COUNT MEMORY ERROR
4
;ADDRESS 11 NOT O, ERROR
cé: SCOPC
XAORS=XADRS+1
XCADRS =XCADRS+1

MEMT2  t/BC/.t/BYTE COUNT/,\XADRS,\XCAORS,177777,+/177777/
:BYTE COUNT MEMORY DATA TEST

sVERIFY THAT ADDRESS 12 OF BYTE COUNT MEMORY

sCAN BE SET TO 177777 AND CLEARED TO O

TS \XN,100,2%

13S: MOV 4340,PS ;DISABLE ALL INTERRUPTS
MoV €100, ICOUNT ;SET UP FOR 100 ITERATIINS
IF N8 MOV 824 ,ESCAPE ;SET UP TO ESCAPE T0 . Y™ IEST
. <>
MOV ¢.FREE2L :SET UP TO LOOP WITH JATA ;3
.ENDC
XN=XN-1
MoV 0177777.R5 ;EXPECTED RESULT=177777
MoV €12, 9DHSCR ;SELECT LOCATION 2
:0F BYTE COUNT MEMORY
MOV €177777,8DHBC sWRITE 177777 INTO MEMORY
MOV SDHBC, R4 sREAD CONTENTS OF MEMORY LOCATION
cHp RS.R4 :COMPARE EXPECTED AND
BEQ 14 ;RECEIVED MEMORY CONTEN"S
.IIF IDN <8C>,<BA>, HLY 3 :BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC>, HY 4 :BYTE COUNT MEMORY ERROR
EMT 4
1%: CLR RS {EXPECTED RESULT AFTER CLEAR=V
BIC 8177777, 0HBC ;iCLEAR MEMORY LOCATION
MOV SDHBC,.R4 tREAD CONTENTS OF BYTE COUNT
1MEMORY ADDRESS 12
BEQ 24
.IIF ION <BC>,<BA>, WY 3 :BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC»>, HT 4 ;BYTE COUNT MEMORY ERROR
EMT 4
1ADDRESS 12 NOT 0, ERROR
24: SCOPE




—

SEQ 4
CZ0OH8B -CO MACRO VO4.00 27-JUN-85 12:49:26 PAGE 19-19 @43
000013 XADRS=XADRS+1
000013 XCADRS=XCADRS+1
005046 MEMT2  +/BC/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,+/177771/
sBYTE COUNT MEMCRY DATA TEST
;VERIFY THAT ADDRESS 13 OF BYTE COUNT MEMORY
:CAN BE SET TO 177777 AND CLEARED TO O
005046 TS \XN,100,2¢$
005046 012767 000340 17272z T36: MoV #340,PS +DISABLE ALL INTERRUPTS
005054 012767 000100 004320 MOV #100, ICOUNT :SET UP FOR 100 ITERATIONS
005062 012767 005142 004306 — MoV #23% ,ESCAPE :SET UP TO ESCAPE TQ NEXT TEST
. <>
ENDC MOV #,FREEZ) iSET UP TO LOOP WITH DATA ; 3
000037 XN=XN+1
005070 012705 177777 MoV #177777,RS ;EXPECTED RESUL1=177777
005074 012777 000013 004232 MOV #13,80kSCR +SELECT LOCATION 13
;0F BYTE COUNT MEMORY
005102 012777 177777 004234 MoV 4177777, 80HBC sWRITE 177777 INTO MEMORY
005110 017704 004230 MoV 80HBC,R4 ;READ CONTENTS OF MEMORY LOCATION
005114 020504 cHp R3,R4 sCOMPARE EXPECTED AND
005116 001401 8EQ 13 ;RECEIVED MEMORY CONTENTS
.IIF IDN <BC>,<BA>, HLY 3 :BUS ADDRESS MEMORY ERROR
005120 .IIF IDN <BC>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERMOR
005120 104004 EMT 4
005122 (N5005 1%: CLR RS sEXPECTED RESULT AFTER CLEAR=0
005124 042777 177777 004212 8IC 9177777, 80H8C ;:CLEAR MFMCRY LOCATION
005132 017704 004206 MoV S0HBC, R4 ;:READ CONTENTS OF BYTE COUNT
;MEMORY ADDRESS 13
005136 001401 BEQ 2%
.IIF IDN <BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
005140 .IIF IDN <8C>,<BC>, HLT 4 ;:BYTE COUNT MEMORY ERROR
005140 104004 ENY 4
;ADDRESS 13 NOT 0, ERROR
005142 104400 2%: SCOPE
000014 XADRS=XADRS+1
000014 XCADRS=XCADRS+1
005144 MEMT2  t/BC/,t/BYTE COUNT/,\XARDRS ,\XCADRS.177777,t/177771/
;BYTE COUNT MEMORY DATA TEST
iVERIFY THAT AODRESS 14 OF BYTE COUNT MEMORY
sCAN BE SET TO 177777 AND CLEARED TO O
005144 TS \XN,100,2%
005144 012767 (00340 172624 T37: MoV 4340,PS ;DISABLE ALL INTERRUPTS
005152 012767 000100 004222 MOV #100, ICOUNT ;SET UP FOR 100 ITERATIONS
005160 012767 005246 004210 — MOV @24 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
S MOV #,FREEZ2L sSET UP TO LOOP WITH DATA ;i 3
000040 XN=XN+1
005166 012705 177777 MOV #177777,RS sEXPECTED RESULT=177777
005172 012777 000014 004133 MoV #14,80HSCR ;SELECT LOCATION 14
;0F BYTE COUNT MEMORY
005200 012777 177777 004136 MOV #177777,80HBC tWRITE 177777 INTO MEMORY
005206 017704 004132 MOV 80HBC, R4 sREAD CONTENTS OF MEMORY LOCATION




CZDHB-CO

005212
005214

005216
005216
005220
005222
005230

005234

005236
005236

005240

005242

0C5242
005242
005250
005256

005264
005270

005276
005304
005310
002312

005314
005314
005316
003320
005326

005332

005334
005334

005336
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SEQ 44

005340

020504 cMP R5,R4 ;COMPARE EXPECTED AND
001401 BEQ 13 ;RECEIVED MEMORY CONTENTS
.IIF IDN <BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC>, HLT 4 ;:BYTE COUNT MEMORY ERROR
104004 EMT 4
005005 1%: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
042777 177777 004114 8IC 2177777,8DHBC ;CLEAR MEMORY LOCATION
017704 004110 MOV 8DHBC, R4 :READ CONTENTS OF BYTE COUNT
:MEMORY ADDRCSS 14
001401 8EqQ 24
IIF IDN <«BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERMOR
.IIF IDN <«BC>,<«BC>, HLTY 4 ;:BYTE COUNT MEMORY ERRGR
104004 EMT 4
;ADDRESS 14 NOT O, ERROR
104400 2%: SCOPE
000015 XADRS=XADRS+1
000015 XCADRS=XCADRS +1
MEMT2  +/BC/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,4/177171/
:BYTE COUNT MEMORY DATA TEST
iVERIFY THAT ADDRESS 15 OF BYTE COUNT MEMORY
;:CAN BE SET 70 177777 AND CLEARED TO O
TS \XN,100,2¢
012767 000340 172526 TAQ: MOV 4340.PS ;:DISABLE ALL INTERRUPTS
012767 000100 004124 MOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS
012767 005336 004112 IF N8 MoV 924 ,ESCAPE ;:SET UP TO ESCAPE TQ NEXT TEST
. <>
ENOC Mov #,FREEZ1 ;SET UP TO LOOP WITH DATA i 3
000041 XN=XNe+1
012705 1777717 MoV #177777.R5 ;EXPECTED RESULT=177777
012777 000015 004036 MOV #15, 80HSCR ;SELECT LOCATION 15
:0F BYTE COUNT MEMORY
012777 177777 004040 MoV #177777,80HBC ;WRITE 177777 INTO MEMORY
017704 004034 MOV S0HBC, R4 ;:READ CONTENTS OF MEMORY LOCATIGN
020504 cnp R5,R4 ; COMPARE EXPECTED AND
001401 BEQ 1 ;RECEIVED MEMORY CONTENTS
.IIF IDN <«8C>, <BA>, HT 3 :BUS ADDRESS MEMORY ERROR
.IIF IDN <BC>,<380C>, HLT 4 ;BYTE COUNT MEMORY ERROR
104004 ENT 4
005005 1s: CLR RS ;EXPECTED RESULT AFTER CLEAR=0
042777 177777 004016 8IC 4177777, 80HBC ;+CLEAR MEMORY LOCATION
017704 004012 MoV 80HBC, R4 ;:READ CONTENTS OF BYTE COUNT
:MEMORY ADDRESS 15
001401 BEQ 24
.1IF IDN <BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
.IIF IDN <8C>,<BC>, HY 4 ;BYTE COUNT MEMORY ERROR
104004 EMT 4
:ADDRESS 15 NOT O, ERROR
104400 2%: SCOPE
000016 XADRS=XADRS+1
000016 XCADRS=XCADRS+1
MEMT2  +/BC/,t/BYTE COUNT/,\XADRS,\XCADRS,177777,t/17177171/

:BYTE COUNT MEMORY DATA TEST
;VERIFY THAT ADDRESS 16 OF BYTE COUNT MEMORY




T
SEQ 4
CZDHB-CO MACRJ V04.00 2/-JUN-85 12:49:26 PAGE 19-21 @45
;CAN BE SET TO 177777 AND CLEARED T0Q 0O
005340 TS \XN,100,28
005340 012767 000340 172430 T41: MOV #340,PS ;DISABLE ALL INTERRUPTS
005346 012767 000100 004026 MOV 9100, ICOUNT $:SET UP FOR 100 ITERATIONS
005354 012767 005434 004014 IF N8 MOV 928 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREE21 ;SET UP TO LOOP WITH DATA : 3
000042 AN=XN+1
005362 012705 177777 MOV #177777.RS sEXPECTED RESULT=177777
005366 012777 000016 003740 MOV #16,80HSCR sSELECT LOCATION 16
;0F BYTE COUNT MEMORY
005374 012777 177777 003742 MOV #177777,80HBC sWRITE 177777 INTQ MEMORY
005402 017704 003736 MOV 8DHBC, R4 ;READ CONTENTS OF MEMOPY LOCATION
005406 020504 o, 14 RS.R4 ;COMPARE EXPECTED AND
005410 001401 BEQ 14 ;RECEIVED MEMORY CONTENTS
.IIF IDN <BC>,<BA>, HLT 3 ;8US AODRESS MEMORY ERROR
005412 .IIF IDN <B8C>,<BC»>, LT 4 :BYTE COUNT MEMORY ERROR
005412 104004 EMT 4
005414 005005 1¢: CLR RS :EXPECTED RESULT AFTER CLEAR=0Q
005416 042777 177777 003720 8IC #177777,80HBC ;CLEAR MEMORY LOCATION
005424 017704 003714 MOV 8D0HBC, R4 ;READ CONTENTS OF BYTE COUNT
sMEMORY ADDRESS 16
005430 001401 BEQ 24
IIF ION <BC>,<BA>, HLT 3 ;BUS ADDRESS MEMORY ERROR
005432 LIIF IDN <BC>,<BC»>, T 4 ;BYTE COUNT MEMORY ERROR
005432 104004 EMT 4
;ADDRESS 16 NOT O, ERROR
005434 104400 2s: SCOPE
000017 XADRS=XADRS+1
000017 XCADRS=XCADRS+1
005436 MEMT2 t/8C/,+/BYTE COUNT/,\XADRS ,\XCADRS,177777,%/177777/
;8YTE COUNT MEMORY DATA TEST
;VERIFY THAT ADDRESS 17 OF BYTE COUNT MEMORY
;CAN BE SET TO 177777 AND CLEARED TO O
005436 TS \XN,100,2%
005436 012767 000340 172332 T42: MV #340,P5 sOISABLE ALL INTERRUPTS
005444 012767 000100 003730 MOV €100, ICOUNT :SET UP FOR 100 ITERATIONS
005452 012767 005532 003716 IF N8 MoV 424 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MoV #,FREEZ1 sSET UP TO LOOP MITH DATA s 3
000043 XN=XN+1
005460 012705 177777 MOV #177777.RS sEXPECTED RESULT=177777
005464 012777 000017 003642 MOV #17,80HSCR sSELECT LOCATION 17
10F BYTE COUNT MEMORY
005472 012777 3177777 003644 MoV #177777,80H8C sMRITE 177777 INTO MEMORY
005500 017704 003640 MOV SOHBC,R4 ;READ CONTENTS OF MEMORY LOCATION
005504 020504 cMpP RS.R4 ;COMPARE EXPECTED AND
005506 001401 BEQ 1 ;RECEIVED MEMORY CONTENTS
IIF IDN <8C>,<BA>, HLT 3 ;18US ADDRESS MEMORY ERROR
005510 .IIF IDN <BC>,<BC»>, HLT 4 ;BYTE COUNT MEMORY ERROR
005510 104004 EMT 4
005512 005005 1¢: CLR RS sEXPECTED RESULT AFTER CLEAR=O




CZOHB-CO

30

005514
005522

005526

005530
005530

005532

005534

005534
005534
005542
0C5550

005556

005564
005570
005572

005576
005602

005606
005612
005614
005616
005622
005630
005¢€ 34

005640

005644
005650

005654
005656
005660
005662
005664

MACRO VO04.09 27-JUN-85

042777
017704

001401

104004

104400
000020
000020

012767
012767
012767

012767

000044
012700

005003
012701

003077
005077

005277
005301
001372
010377
012777
005077
012701

012705

017704
027703

001401
005005
020504
001401

177777 003622
003616

172234
003632
003620

003614

000340
000100
005706

005602

000020

000020

003532
003534

003522
003512
177777
003500
000020

171

003512

003472
003460

12:49:26 PAGE 19-22

8IC
MOV

BEQ
.IIF IDN
.IIF IDN

EMT

2%: SCOPE
XADRS=XADRS+1
XCADRS=XCADRS+1
MEMT3

177777, 80HBC

8DHBC,R4

23

<BC>,<BA>, HLT
<BC»>,<BC>, HLT
4

:BUS ADDRESS MEMORY TEST
:CLEAR ALL LOCATIONS IN BUS ADDRESS MEMORY
:SET SELECTED LOCATION TO VALUE 177777
sVERIFY THAT SELECTED LOCATION WAS SET
;10 177777,
;VERIFY THAT NO OTHER LOCATION WAS MODIFIED.

TS \XN,100.6%,2%
T43: v

IF N8

.ENDC
XN=XN+1

1s: Hov

CLR
2%: CLR

INC
OEC
BNE
MG,
MOV
CLR
MOV

3s: MOV

MOV
cHP

BEQ

CLR
43 cHe

3EQ
.IIF IDN

#340,PS
#100, JCOUNT
#64$,ESCAPE

424 ,FREEZ1

#20,R0
R3
#20,R1

SDHSCR
SDHBA

SOHSCR

R1

29

R3, 8DHSCR
#177777, SDHBA

SDHSCR
#20,R1

#177777.R5

80HBA , R4
S0HSCR.R3

<BA>,<BA>, HLT

;:CLEAR MEMORY LOCATION
1READ CONTENTS OF BYTE COUNT
sMEMORY ADDRESS 17

SEQ 46

3 ;BUS ADDRESS MEMORY ERROR
4 :BYTE COUNT HEMOOY ERROR

s ADDRESS 17 NOT 0, ERROR

t/BA/, t/BUS ADORESS/ ,177777,t/1771771/

;:DISABLE ALL INTERRUPTS
:SEY UP FOR 100 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA

:SET UP TO TEST 20(OCTAL)
;LOCATIONS JN BUS ADDRESS MEMORY
sFIRST LOCAIION TO BE

;WRITTEN INTO IS O

:SET UP TO CLEAR 20 (OCTAL)
:LOCATIONS IN BUS ADDRESS MEMORY
;START AT LOCATION ¢

;CLEAR LOCATION IN

:BUS ADDRESS MEMORY

;ADVANCE TO NEXT LOCATION
1CONTINUE CLEARING

+IF NOY DONE

+SELECT ADDRESS 70 BE TESTED
sWRITE 177777 INTO LOCATION
tADDRESS LOCATION 0

:SET UP TO CHECK ALL ADDRESSES
;IN BUS ADDRESS MEMORY
s177777=EXPECTED RESUWLY

:IF ADDRESS READ IS LOCATION
+HRITTEN INTO

;READ MEMORY LOCATION

sIF LINE NUMBER=ADDRESS

1OF LOCATION WRITTEN INTO
:EXPECTED CONTENTS=177777

;OTHERWISE, EXPECTED RESULTS=0
:D0ES MEMORY LOCATION CONTAIN
;EXPECTED RESULT

; 3

3 ;BUS ADDRESS MEMORY ERROR




31

CzZ0H8-CO

005664

005666
005670
005674
005676
005700
005702
005704
005706
005710

005710
005710
005716
005724

005732
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104003

104410
05277
005301
011360
05203
003300
001332
104400

012767
012767
012767

012767

000045
012700

005003
012701

005077
005077

005277
005301
001372
010277
012" 77
005977
012701

012705

017704
027703

001401
005005
020504
001401

104003

003440

000340
000100
006062

005756

000020

000020

u3356
00336C

003346
003336
125252
003324
000020
125252

003316
003304

172060
003456
003444

03440

003336

SEQ 47

:BYTE COUNT MEMORY ERROR

EMT 3
.IIF IDN <BA»,<BC»>, HLT 4
Ss$: SCOPEL ;CHECK FOR LOOP WITH CURRENT DATA
INC 80HSCk :CHECK CONTENTS OF NEXT LOCATION
DEC R1
BNE 3
INC R3 {NEXT ADDRESS TO BE WRITTEN
DEC RO
BNE 14
64: SCOPE sCHECK FOR ITERATIONS, LOOP
MEMT3  t/BA/,1/BUS ADDRESS/,125252,t/125252/

;BUS ADDRESS MEMORY TEST

:CLEAR ALL LOCATIONS IN BUS ADDRESS MEMORY
+SET SELECTED LOCATION TO VALUE 125252
sVERIFY THAT SELECTED LOCATION WAS SET

:T0 125252.

;VERIFY THAT NO OTHER LOCATION WAS MODIFIED.

TS \XN,100,6%,2¢
MOV

T44: 9340,PS
MOV €100, ICOUNT
MoV #6% ,ESCAPE
IF NB @2$
MoV £2% ,FREEZL
.ENDC
XN=XN+1
MOV 920,R0
CLR R3
1%: MOV #20,R}1
CLR SOHSCR
2% CLR SDHBA
INC GDHSCR
DEC R1
BNE 24
MoV R3,8DHSCn
MoV 9125252, 80HBA
CLR SOHSCR
MoV #20,R1
3s: MOV #125252.R5
MoV S0HBA , R4
cHP SOHSCR ,R3
BEQ 43
CLR RS
4% ; cHp RS,.R4
BEQ S$
.IIF IDN <BA>,<BA>, T
EMT 3

;DISASLE ALL INTERRUPTS
;SET UP FOR 100 ITERATIONS
sSET UP TO ESCAPE TO NEXT TEST

iSET UP TO LOOP WITA DATA

sSEt UP TO TEST 20(OCTAL)
;LOCATIONS IN BUS ADDRESS MEMORY
;FIRST LOCATION TO BE

;WRITTEN INTO IS O

;SET UP TO CLEAR 20 (OCTAL)
;LOCATIONS IN BUS ADDRESS MEMORY
sSTART AT LOCATION O

;CLEAR LOCATION IN

:BUS ADDRESS MEMORY

sADVANCE TO NEXT LOCATION
;CONTINUE CLEARING

;IF NOT DONE

+SELECT ADDRESS TO BE TESTED
;WRITE 125252 INTO LOCATION
;ADORESS LOCATION O

;SET UP TO CHECK ALL ADDRESSES
;IN BUS ADDRESS MEMORY
3125252=EXPECTED RESWLT

:IF ADDRESS READ IS LOCATION
sMRITTEN INTO

sREAD MEMORY LOCATION

11F LINE NUMBER=ADDRESS

;OF LOCATION WRITTEN INTO
:EXPECTED CONTENTS=125252

;OTHERWISE, EXPECTED RESW TS=0
;DOES MEMORY LOCATION CONTAIN
tEXPECTED RESULT

3 ;BUS ADDRESS MEMORY ERROR




32

CZDHB-CO

00,042
006044
006050
006052
006054
006056
006060
006062
006064

006064
006064
006072
006100

0€6106

006114
006120
006122

006126
006132

006136
006142
006144
006146
006152
006160
006164

006170

006174
006200

006204
006206
006210
006212
006214
006214

SEQ 43
MACRO V04.00 27-JUN-8S 12:49:26 PAGE 19 24

.IIF IDN <BA>,<BC>, HLT 4 ;EYTE COUNT MEMORY ERROR
104410 S¢: SCOPEL iCHECK FOR LOOP WITH CURRENT DATA
005277 003264 INC B0HSCR 1CHECK CONTENTS OF NEXT LOCATION
005301 OEC R1
001369 BNE 3
005203 INC R3 ;NEXT ADDRESS TO BE WRITTEN
005300 DEC RO
001332 BNE 13
104400 64: SCOPE ;CHECK FOR ITERATIONS, LOOP
MEMT3  */BA/,t/BUS ADDRESS/,52525,t/52525/
:BUS ADDRESS MEMORY TEST
;CLEAR ALL LOCATIONS IN BUS ADDRESS MEMORY
;SET SELECTED LOCATION TO VALUE 52525
;VERIFY THAT SELECTED LOCATION WAS SET
170 52525,
;VERIFY THAT NO OTHER LOCATION WAS MODIFIED.
TS \XN,100,6%,24
012767 000340 171704 T4S: MoV 9340,PS :DISABLE ALL INTERRUPTS
012767 000100 003302 MoV €100, ICOUNT sSET UP FOR 100 ITERATIONS
012767 006236 003270 IF e Hg\’l 864, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
) 24>
012767 000132 003264 ENDC MoV 92¢ . FREEZ] ;SET UP TO LOOP WITH DATA i 3
000046 XN=XN+1
012700 000020 HOV 920,R0 ;:SET UP TO TEST 20(OCTAL)
:LOCATIONS IN BUS ADDRESS MEMORY
005003 CLR R3 ;FIRST LOCATION TO BE
sWRITTEN INTOD IS O
012701 000020 1s: MoV #20,R1 sSET UP TO CLEAR 20 (OCTAL)
;LOCATIONS IN BUS ADDRESS MEMORY
005077 003202 CLR SDHSCR sSTART AT LOCATION O
005077 003204 2%: CLR SDHBA 1CLEAR LOCATION IN
18US ADORESS MEMOR .
005277 003172 INC SDHSCR :ADVANCE TG NEXT LOCATION
005301 DEC R1 sCONTINUE CLEARING
001372 BNE 24 ;IF NOT DONE
010377 003162 MoV RY , GDHSCR +SELECT ADDRESS TO BE TESTED
012777 052525 003162 MOV 952525, S0HBA sWRITE 52525 INTO LOCATION
005077 003159 CLR SOHSCR 1ADDRESS LOCATION O
012701 000020 MOV 024,R1 t5ET UP TO CHECK ALL ADORESSES
iIN BUS ADORESS MEMORY
012705 052525 38 MOV #52525.RS 152525-EXPECTED RESULT
;IF _ADDRESS READ IS LOCATION
sWRITTEN INTO
017704 003142 Hov SOHBA, R4 sREAD MEMORY LOCATION
027703 003130 cHp SOHSCR . R3 +IF LINE NUMBER=ADDRESS
s0F LOCATION WRITTEN INTO
tEXPECTED CONTENTS=52525
001401 BEQ 43
005005 CLR RS 1OTHERWISE, EXPECTED RESULTS=0
020504 44: 1% RS R4 ;DOES MEMORY LOCATION CONTAIN
001401 8eq 54 ;EXPECTED RESULT
.IIF ION <BA>,<BA>, HT 3 :BUS ADDRESS MEMORY ERROR
104003 EMT 3
.IIF IDN <BA>, <BC>, HLT 4 :BYTE COUNT MEMORY ERROR
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CZ0HB-CO

006210
006220
000224
006226
006230
006232
006234
006236
006240

006240
006240
006246
006254

006262

006270
006274
006276

006302
006306

006312
006316
006320
006322
006326
006334
006340

006344

006350
006354

006360
006362
006364
006366

006370
0056370
006372

SEQ 49
MACRO V04.00 27-JUN-85 12:49:26 PAGE 19-25

104410 5% SCOPEL ;CHECK FOR LOOP WITH CURRENT DATA
005277 003110 INC 80HSCR :CHECK CONTENTS OF NEXT LOCATION
005301 DEC R1
001360 BNE 3
005203 INC R3 ;NEXT ADDRESS TO BE WRITTEN
005300 DEC RO
001332 BNE 14
104400 6$: SCOPE ;CHECK FOR ITERATIONS, LOOP
MEMT3  t/B8C/,t/BYTE COUNT/, 177777, +/477771/
sBYTE COUNT MEMORY TEST
;CLEAR ALL LOCATIONS IN BYTE COUNT MEMORY
sSET SELECTED LOCATION TO VALUE 177777
{VERIFY THAT SELECTED LOCATION WAS SET
{10 177777,
sVERIFY THAT NO OTHER LOCATION WAS MODIFIED.
TS \XN,100.6¢,2%
012767 000340 171530 T4é: MOV #340,PS ;OISABLE ALL INTERRUPTS
012767 000100 003126 MOV #4100, ICOUNT :SET UP FOR 100 ITERATIONS
012767 006412 003114 — FKZJV: #6¢ ,ESCAPE sSET UP TO ESCAPE TO NEXT TEST
. 2$>
012767 006306 003110 ENOC MoV €24 ,FREEZL :SET UP TO LOOP WITH DATA : 3
000047 XN=XN+1
012700 000020 MOV #20,R0 ;SET UP TO TEST 20(0CTAL)
sLOCATIONS IN BYTE COUNT MEMORY
005003 CLR R3 ;FIRST LOCATION TO BE
sMRITTEN INTO 1S O
012701 000020 1¢: MOV #20,R1 ;SET UP TO CLEAR 20 (OCTAL)
;LOCATIONS IN BYTE COUNT MEMORY
005077 003026 CLR S0HSCR iSTART AT LOCATION O
005077 003032 2%: CLR 80HBC :CLEAR LOCATION IN
iBYTE COUNT MEMORY
005277 00301¢ INC SOHSCR sADVANCE TO NEXT LOCATION
005301 DEC R1 sCONTINUE CLEARING
001372 BNE 28 ;1F NOT DONE
010377 003006 MOV R3,80HSCR +SELECT ADDRESS TO BE TESTED
012777 177777 003010 MOV #177777,80HBC :MRITE 177777 INTO LOCATION
005077 002774 CLR SDHSCR ;ADDRESS LOCATION O
012701 000020 MOV #20,R1 xSET UP TO CHECK ALL ADORESSES
+IN BYTE COUNT MEMORY
012705 177777 3¢: nov 0M77777,RS 1177777=EXPECTED RESULT
:IF ADDRESS READ IS LOCATION
JHRITTEN INTO
017704 002770 MOV S0HBC . R4 sREAD MEMORY LOCATION
027703 002754 e S0HSCR,R3 ;IF LINE NUMBER=ADDRESS
:0F LOCATION WRITTEN INTO
sEXPECTED CONTENTS=177777
001401 6EQ 44
005005 CLR RS 1OTHERWISE, EXPECTED RESULTS=0
020504 4%: cnp R5.R4 :D0ES MEMORY LOCATION CONTAIN
001401 6EQ 5¢ {EXPECTED RESULT
-IIF ION <BC>, <BA>, HLT 3 1BUS ADORESS MEMORY ERROR
.IIF IDN <8C>, <BC>, HT 4 :BYTE COUNT MEMORY ERROR
104004 EMT 4
104410 5%: SCOF.1 ;CHECK FOR LOOP WITH CURRENT DATA




CZDHB-CO

34

006374
006400
006402
00€404
006406
006410
006412
006414

006414
006414
006422
006430

006436

006444
006450
006452

006436
006462

006466
006472
006474
006476
006502
006510
006514

006520

006524
006530

006534
006336
006540
006542

006344
006544
006546
006550

005277
005301
001360
005203
005300
001332
104400

012767
012767
012767

012767

000050
012700

005003
012701

005077
005077

005277
005301
001372
010377
012777
005077
012701

012705

017704
027703

001401
005005
020504
001401

$°Q 50
MACRO V04 00 27-JUN-85 12:49:26 PAGE 19-26
INC S0HSCR ;:CHECK CONTENTS OF NEXT LOCATION
DEC R1
BNE 33
INC R3 :NEXT ADDRESS TO BE WRITTEN
DEC RO
BNE 1s
63$: SCOPE ;CHECK FOR ITERATIONS, LOOP
MEMT3  +/BC/,t/BYTE COUNT/,125252,t/125252/
:BYTE COUNT MEMORY TEST
;CLEAR ALL LOCATIONS IN BYTE COUNT MEMORY
;SET SELECTED LOCATION TO VALUE 125252
;VERIFY THAT SELECTED LOCATION WAS SET
sT0 125252,
sVERIFY THAT NO OTHER LOCATION WAS MODIFIED.
TS \XN,100,6%,2%
171354 T47: MoV 4340,PS ;:0ISABLE ALL INTERRUPTS
002752 MOV @100, ICOUNT ;SET UP FOR 100 ITERATIONS
002740 IF N Hg! #6% ,ESCAPE ;:SET UP TO ESCAPE TO NEXT TEST
. <2$>
002734 ENDC MOV 924 ,FREEZ1 ;SET UP TO LOGP WITH DATA : 3
XN=XN+1
MoV #20,R0 ;:SET UP TO TEST 20(OCTAL)
;LOCATIONS IN BYTE COUNT MEMORY
CLR R3 ;FIRST LOCATION TO BE
;WRITTEN INTO IS O
1s: MOV #20,R1 ;SET UP TO CLEAR 20 (OCTAL)
;LOCATIONS IN BYTE COUNT MEMORY
CLR SDHSCR :START AT LOCATION O
2%: CLR 80HBC :CLEAR LOCATION IN
sBYTE COUNT MEMORY
INC SDHSCR ;ADVANCE TO NEXT LOCATION
0EC R1 :CONTINUE CLEARING
BNE 24 ;IF NOT DONE
MOV R3,8DHSCR :SELECT ADDRESS TO BE TESTED
002634 MOV 125252, 80HBC (WRITE 125252 INTO LOCATION
CLR SOHSCR ;ADDRESS LOCATION ©
MoV #20,R1 1SET UP TO CHECK ALL ADDRESSES
sIN BYTE COUNT MEMORY
3s: MoV #125252,R5 $125252=EXPECTED RESWLT
;IF _ADDRESS READ IS LOCATION
sWRITTEN INTO
HOV S0HBC, R4 sREAD MEMORY LOCATION
CHp SDHSCR ,R3 sIF LINE NUMBER=ADDRESS
sOF LOCATION WRITTEN INTO
;EXPECTED CONTENTS=125252
8EQ 43
CLR RS sOTHERWISE, EXPECTED RESW.TS=0
4% cHP R5,R4 ;DOES MEMORY LOCATION CONTAIN
BEQ 5% ;EXPECTED RESULT
.IIF IDN <BC>,<BA>, HLT 3 :8US ADDRESS MEMORY ERROR
.IIF IDN <BC>,<BC>, HLT 4 ;BYTE COUNT MEMORY ERROR
EMT 4
S$: SCOPE1L ;CHECK FOR LOOP MWITH CURRENT DATA

104004
104-.10
005277

002734

000340
000100
006566

006462

000020

000020

002652
002656

002642
002632
125252
002620
000020
125252

002614
002600

002560

INC S0HSCR

;CHECK CONTENTS OF NEXT LOCATION

N
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006570
006570
006576
006604

006612

006620
006624
006626

006632
006636

006642
006646
006650
006632
006636
006664
006670

006674

006700
006704

006710
006712
006714
006716

008720
006720
006722
006724
006730

MACRO VO4.00 27-JUN 85 12-49:26 PAGE 19-27

005301
001360
005203
005300
001332
104400

012767
012767
012767

012767

000051
012700

005003
012701

005077
005077

005277
0035301
001372
010377
012777
005077
012701

012705

017704
027703

001401
005005
020504
001404

104004
104410
003277
005301

00034¢
000100
006742

006636

000020

000020

002476
002502

002466
002456
052525
002444
000020
052525

002440
002424

002404

171200
002576
002564

002560

002460

SEQ 51

;NEXT ADDRESS TO BE WRITTEN

;:CHECK FOR ITERATIONS, LOOP

;DISABLE ALL INTERRUPTS
;SET UP FOR 100 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA i 3

$SET UP TO TEST 20(OCTAL)
;LOCATIONS IN BYTE COUNT MEMORY
;FIRST LOCATION TO BE

;WRITTEN INTO IS 0

$SET UP TO CLEAR 20 (OCTAL)
:LOCATIONS IN BYTE COUNT MEMORY
sSTART AT LOCATION O

;CLEAR LOCATION IN

sBYTE COUNT MEMORY

sADVANCE TO NEXT LOCATION
;CONTINUE CLEARING

+IF NOT DONE

sSELECT ADDRESS 0 BE TESTED
sWRITE 52525 INTO LOCATION
;ADDRESS LOCATION O

1SET UP TO CHECK ALL ADDRESSES
1IN BYTE COUNT MEMORY
152525=EXPECTED RESULT

sIF ADORESS READ IS LOCATION
sWRITTEN INTO

sREAD MEMORY LOCATION

sIF LINE NUMBER=ADDRESS

sOF LOCATION WRITTEN INTO
1IEXPECTED CONTENTS»52525

;OTHERWISE, EXPECTED RESULTS=0
1DOES MEMORY LOCATION CONTAIN
§EXPECTED RESULTY

;CHECK FOR LOOP WITH CURRENT DATA
sCHECK CONTENTS OF NEXT LOCATION

DEC R1
BNE 1
INC R3
DEC RO
BNE 14
64: SCOPE
HEMT3 t/B8C/.t/BYTE COUNT/,L52525, t/52525/
;BYTE COUNT MEMORY TEST
sCLEAR ALL LOCATIONS IN BYTE COUNT MEMORY
sSET SELECTED LOCATION TO VALUE 52525
sVERIFY THAT SELECTEC LOCATION WAS SET
sTO S52525.
sVERIFY THAT NO OTHER ILOCATION WAS MODIFIED.
TS \XN,100,64,24
150: MoV #340,PS
MOV €100, ICOUNT
MOV #64 ,ESCAPE
JIF NB 28>
MOV 24 ,FREEZ2L
.ENOC
XN=XN+1
MOV #20,R0
CLR R3
1%: MOV #20,R1
CLR SOHSCR
24: CLR S0HBC
INC SOHSCR
0EC R1
8NE 24
MoV R3,80HSCR
MoV #52525,80HBC
CLR SOHSCR
MoV 420,R1
34: MoV 52525 ,RS
MOV SOMBC R4
CcHP SO0HSCR,R3
BEQ 43
CLR RS
44 cHp R5.R4
BEQ S
IIF IDN <«BC>,<BA>, HLT
IIF ION <«8C>,<BC>, HLT
et 4
S$ SCOPEL
INC SDHSCR
DEC R1

;BUS ADORESS MEMORY ERROR
4 sBYTE COUNT MEMORY ERROR
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006744
006744
006752
006760

006766

006774
007000
007002

007006
007012

007020
007024
007026
007030
007034
007042
007046

007052

007056
007062

007066
007070
007072
007074
007076
007076

007100
007102
007106
007110

MACRO VO4.00 27-JUN-85 12:49:26 PAGE 19-28

001360
005203
003300
001332
104400

012767
012767
012767

012767

000052
012700

003003
012701

003077
012777

003277
003301
001371
010377
012777
003077
012701

012705

017704
027703

001401
005105
020504
001401

104003

104410
005277
003301
001360

000340
000100
007120

007012

000020

000020

002322
177777

002310
002300
000000
002266
000020
000000

002260
002246

002226

171024

002322

002300

BNE
INC
DEC
BNE
68: SCOPE
MEMTS

3s

R3
RO

1

SEQ 32

sNEXT ADDRESS TO BE WRITTEN

;CHECK FOR ITERATIONS, LOOP

t/BA/,+/BUS ADDRESS/.0,t/0/
iBUS ADORESS MEMORY TEST

sSET ALL LOCATIONS IN BUS ADDRESS MEMORY TO 177777
1SEY SELECTED LOCATION TO VALUE O
JVERIFY THAT SELECTED LOCATION WAS SET

170 O,

sVERIFY THAT NO OTHER LOCATION WAS MODIFIED.

15 \XN.iOOQGQ.ZO

T51:

IF NB

.ENDC

XN=XN¢1

14: MOV

24: MOV

3 o))

#340,PS
#100,ICOUNT
464 ,ESCAPE

#24 ,FREE21

#20,R0
R3
#20.R1

SDHSCR
4177777, 80HBA

44

RS.R4

S
<BA>,<BA>,
3

<BA> ,<BC>,
GDHSCR

R1
3¢

;DISABLE ALL INTERRUPTS
$SET UP FOR 100 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

sSET UP TO LOOP WITH DATA : 3

sSET UP TO TEST 20(0CTAL)

sLOCATIONS IN BUS ADDRESS MEMORY

1tFIRST LOCATION TO BE

;WRITTEN INTO IS O

1SET UP TO SET 20 (OCTAL)

sLOCATIONS IN BUS ADDRESS MEMORY TO 177777

1STA™T AT LOCATION O

1SET LOCATION IN

18US ADDRESS MEMORY

sADVANCE TO NEXT LOCATION

1CONTINUE SETTING

1IF NOT DONE

1SELECT ADDRESS TO BE TESTED

JWRITE O INTO LOCATION

sADDRESS LOCATION ©

1SET UP TO CHECK ALL ADDRESSES

1IN BUS ADDRESS MEMORY
10=EXPECTED RESULT

+IF ADDRESS READ IS LOCATION

tHRITTEN INTO

1READ MEMORY LOCATION

1IF LINE NUMBER=ADDRESS

10F LOCATION WRITTEN INTO

1EXPECTED CONTENTS=0

1OTHERWISE, EXPECTED RESW.T15177777
100ES MEMORY LOCATION CONTAIN

sEXPECTED RESWLT
HT 3 1BUS ADORESS MEMORY ERROR
HT 4 18YTE COUNT MEMORY ERROR

1CHECK FOR LOOP WITH CURRENT DATA
1CHECK CONTENTS OF NEYT LOCATION
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007112
007114
007116
007120
007122

007122
007122
007130
007136

007144

007152
0C7156
007160

007164
007170

007176
007202
007204
007206
007212
007220
007224

007230

007234
007240

007244
007246
007250
007252

007254
007254
007256
007260
007264
007266
007270

MACRD VO4.00 27-JUN-85 12:49:26 PAGE 19-29

005203
005300
001331
104400

012767
012767
012767

012767

000053
012700

005003
012701

005077
012777

005277
005301
001371
010377
012777
005077
012701

012705

017704
027703

001401
005105
020504
001401

104004
104410
005277
005301
001360
005203

000340
000100
007276

007170

000020

000020

002144
177777

002132
002122
000000
002110
000020
000000

02104
002070

002050

170646
002244
002232

002226

002146

002124

6%:
MEMT4

T5¢2:

IF N8B

.ENDC
XN=XN+1

1s:

2%:

3s:

43

INC
DEC
BNE
SCOPE

R3
RO
14

t/BC/, t/BYTE COUNT/,0,t/0/

tBYTE COUNT MEMORY TEST

SEQ 53

iNEXT ADDRESS TO BE WRITTEN

:CHECK FOR ITERATIONS, 1.00P

1SET ALL LOCATIONS IN BYTE COUNT MEMORY TO 177777
1SET SELECTED LOCATION TO VALUE 0O
$VERIFY THAT SELECTED LOCATION WAS SET

370 0.

sVERIFY THAT NO OTHER LOCATION WAS MODIFIED.
TS \XN,100,6%,29
v

CLR
MOV

INC

MoV

CLR
MOV

MOV

MoV
cHp

BEQ
COoM
cMp
BEQ

.IIF IDN
.JIF IDN

Ss:

EMT
SCOPE1L
INC
DEC
BNE
INC

4340,PS
#100, ICOUNT
63 ,ESCAPE

923 ,FREEZ]

€20,R0
RZ
#20,R1

SDHSCR
#177777,90H8C

90HBC , R4

<BC>,<«BA>,
<BC>,<BC>,
4

S0HSCR
R1
3
R3

;DISABLE ALL INTERRUPTS
;SET UP FOR 100 ITERATIONS
1SET UP TO ESCAPE TO NEYT TEST

;SET UP TO LOOP WITH DATA ; 3

;:SET UP TO TEST 20(OCTAL)
;LOCATIONS IN BYTE COUNT MEMORY
:FIRST LOCATION TO BE

;WRITTEN INTO IS O

sSET UP TO SET 20 (OCTAL)
:LOCATIONS IN BYTE COUNT MEMORY TC 177777
sSTART AT LOCATION O

sSET LOCATION IN

;BYTE COUNT MEMORY

:ADVANCE TO NEXT LOCATION
iCONTINUE SETTING

;IF NOT OONE

sSELECT ADDRESS TO BE TESTED
sMRITE O INTO LOCATION

:ADDRESS LOCATION O

sSET UP 70 CHECK ALL ADDRESSES
:IN BYTE COUNT MEMORY

;0=EXPECTED RESWLT

HLT
HT

:IF ADDRESS READ IS LOCATION
sWRITTEN INTO

+READ MEMORY LOCATION

:IF LINE NUMBER=ADORESS

;OF LOCATION WRITTEN INTO
sEXPECTED CONTENTS=0

tOTHERWISE, EXPECTED RESWLTS=177777

:DOES MEMORY LOCATION CONTAIN

;EXPECTED RESWLLT

3 ;8US ADDPESS MEMORY ERROR
4 :BYTE COUNT MEMORY ERROR

:CHECK FOR LOOP WITH CURRENT DATA
iCHECK CONTENTS OF NEXT LOCATION

iNEXT ADORESS TO BE WRITTEN




SEQ 54

A )

.2

€20M8 -CO MACRO VO4.00 27-JUN 85 12:49:26 PAGE 19-30
007272 005300 OEC RO
007274 001331 BNE 14
007276 104400 63: SCOPE :CHECK FOR ITERATIONS, (00P
38 007300 MXTST2 t/LOW AND HIGH/,6C,300
:MEMORY EXTENSION MEMORY TEST
;VERIFY THAT LOW AND HIGH ORDER MEMORY EXTENSION BIT CAN BE
1SET AND CLEARED IN SELECTED MEMORY EXTENSION MENMORY LOCATION
007300 TS \XN,100,64,2%
007300 012767 000340 170470 T53: MOV 9340,PS iDISABLE ALL INTERRUPTS
007306 012767 000100 002066 MOV 9100, ICOUNT ;SET UP FOR 100 ITERATIONS
007314 012767 007470 002054 — Hg\‘l 968 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. 23>
007322 012767 007346 002050 ENOC MoV 928 ,FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
000054 XNe=XN+1
007330 012700 000020 "ov 20,R0 :SET UP TO TEST 20(OCTAL)
;LOCATIONS IN MEMORY EXTENSION MEMORY
007334 005003 CLR R3 ;FIRST LOCATION TO BE
;WRITEEN INTO IS O
007336 012701 000020 1s "ov ©020,R1 sSET UP TO CLEAR 20 (OCTAL)
sLOCATIONS IN MEMCRY EXTENSION MEMORY
07342 005177 001766 CLR 8DHSCR ;START AT LOCATION O
0C7346 042777 000060 001760 2%: 81C €60, SOHSCR sCLEAR LOCATION IN
007354 012777 000000 001760 "ov 90, S0HBA sMEMORY EXTENSION MEMORY
007362 05277 COQ1746 INC SOMSCR sADVANCE TO NEXT LOCATION
007366 005301 DEC R1 ;CONTINUE CLEARING
007370 001366 BNE 23 :IF NOT DONE
007372 010377 001736 MoV R3,.9DHSCR sSELECT ADDRESS TO BE TESTED
007376 052777 00006C 001730 BIS 060, 8DHSCR sMRITE LOW AND HIGH INTO LOCATION
007404 012777 000000 00173C MoV &0, 8DHBA :LOAD ADDRESS
007412 005077 001716 CLR SDHSCR ;ADDRESS LOCATION ©
007416 012701 000020 MoV 920,R1 ;:SET UP TO CHECK ALL ADDRESSES
s IN MEMORY EXTENSION MEMORY
007422 012705 000300 3s: MoV #300.RS ;LOW AND HIGH=EXPECTED RESULT
:IF ADDRESS READ IS5 LOCATION
;WRITTEN INTO
007426 017704 001720 nov S0HSSR R4 ;:READ MEMORY LOCATION
007432 027703 001676 o, SOMSCR,R3 :IF LINE NUMBER=ADDRESS
;0F LOCATION WRITTEN INTO
:EXPECTED CONTENTS=LOW AND HIGH
007436 301401 8EQ 44
007440 005005 CLR RS :0THERWISE, EXPECTED RESWATS=0
007442 020504 4%: cHP R5,R4 ;00ES MEMORY LOCATION CCNTAIN
007444 001401 BEQ 54 +EXPECTED RESULT
007446 HT 5 tMEMORY EXTENSION DATA ERRGR
007446 104005 EMT 5
007450 104410 5%: SCOPEL :CHECK FOR LOOP WITH CURRENT DATA
007452 005277 001656 INC SOHSCR ;CHECK CONTENTS OF NEXT LOCATION
007456 005301 DEC R1
007460 001360 BNE 33
007462 005203 INC R3 iNEXT ADDRESS TO RE WRITTEN
007464 005300 DEC RO
007466 001323 BNE 1$
007470 104400 €3: SCOPE ;CHECK FOR ITERATIONS, LOOP
39 007472 MXTST2 +/L0W/,20,100
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40

007472
007472
007500
007506

007514

007522
007526
007530

007534
007540
007546
007554
007560
007562
0C7564
007570
007576
007604
007610

007614

007620
007624

007630
007632
007634
007636
007640
007640
007642
007644
007650
007652
007654
007656
007660
007662
007664

007664
007664
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012767
012767
912767

012767

000055
012700

0035003
012701

005077
042777
012777
005277
005301
01366
010377
052777
012777
005077
012701

012705

017704
027703

001401
005005
020504
0014C1

104005
104410
005277
005301
001360
0052¢3
005300
001223
104400

012767

000340
000100
007,02

007540

000020

000020
001574
000000
001554

001544
000020
000000
001524
000020

000100

001526
001504

001464

170276
001674
001662

001656

001566
001566

001536
001536

iMEMORY EXTENSION MEMORY TEST

SEQ S5

sVERIFY THAT LOW ORDER MEMORY EXTENSION BIT CAN BE
;SET AND CLEARED IN SELECTED MEMORY EXTENSION MEMORY LOCATION

TS \XN,100,64,2%

154:; MOV
MOV
MOV

JIF NB O 28>

MOV
.ENDC
XN=XN+1

MOV

1s: MOV

2%: 8IC

3s: Moy

4% cne

Ss: SCOPEL

6%: SCOPE
t/HIGH/, 40,200

:MEMORY EXTENSION MEMORY TEST

MXT5T2

9340,PS
9100, ICOUNT
@64 ,ESCAPE

928 ,FREEZ1

#20,R0
R3
#20,R1

SOHSCR
960, 80HSCR
€0, 90HBA
SDHSCR

R1

23
R3,S0HSCR
#20, BDHSCR
40, SDHPA
SOHSCR
#20,R1

#100.RS
SOHSSR, R4
SOHSCR,R3
44

RS

RS.R4

54

5
5

SOHSCR
Ri

3%
R3

RO
13

;:DISABLE ALL INTERRUPTS
iSET UP FOR 100 ITERATIONS
1SET UP TO ESCAPE TO NEXT TEST

;:SET UP TO LOOP WITH DATA i 3

sSET UP TO TEST 20(GCTAL)

sLOCATIONS IN MEMORY EXTENSION MEMORY
;FIRST LOCATION TO BE

sWRITEEN INTO IS ©

:SET UP TO CLEAR 20 (OCTAL)
:LOCATIONS IN MEMORY EXTENSION MEMORY
:START AT LOCATION O

:CLEAR LOCATION IN

sMEMORY EXTENSION MEMORY

sADVANCE TO NEXT LNCATION

;CONTINUE CLEARING

:IF NOT DONE

;SELECT ADDRESS TO BE YESTeD

;MRITE LOW INTO LOCATION

sLOAD ADDRESS

;ADORESS LOCATION O

$SET UP TO CHECK ALL ADDRESSES

:IN MEMORY EXTENSION MEMORY

sLOW=EXPECTEC RESULT

:IF ADDRESS READ IS LOCATION
tHRITTEN INTO

sREAD MEMORY LOCATION

:IF LINE NUMBER=ADDRESS

;0F LOCATION WRITTEN INTO
:EXPECTED CONTENTS=LOM

;OTHERMWISE, EXPECTED RESULTS=0
;:DOES MEMORY LOCATION CONTALIN
iEXPECTED RESULT

;MEMORY EXTENSION DATA ERROR
sCHECK FOR LOOP WITH CURRENT DATA
;CHECK CONTENTS OF NEXT LOCATION
:NEXT ADDRESS TO BE WRITTEN

:CHECK FOR ITERATIONS, LOOP

sVERIFY THAT HIGH ORDER MEMORY EXTENSION BIT CAN BE

;SET AND CLEARED IN SELECTED MEMORY EXTENSION MEMORY LOCATION
TS \XN,100,6%,2%
000340 170104 TSS: MoV

©340,P5

;:DISABLE ALL INTERRUPTS




—

r

C20MB-CO

007672
007700

007706

c07714
007720
007722

007726
007732
007740
007746
007752
007754
007756
007762
007770
007776
010002

010006

010012
010016

010022
010024
010026
010030
010032
010032
010034
010036
010042
010044
010046
010050
010052
010054

MACRO VO4.00 27-JUN-85 12:49:26 PAGE 19 X2

012767
012767

012767

G00056
012700

005003
012701

005077
042777
12777
005277
005301
001366
010377
052777
012777
005077
912701

012705

017704
027703

001401
005005
020504
001401

104005
104410
0052 /7
005301
001360
005203
005300
001323
104400

000100
010054

007732

000020

000020

001402
00006V
000000
001362

001352
000040
00000C
001332
000020

000200

01334
001312

001272

001502
001470

001464

001374
001374

001344
001344

.IF NB

.ENDC
XN=XN+1

1s:

2%:

3s:

4% :

5%:

64:

MoV
MOV
2%>
MOV

MoV
CLR
MoV

CLR
8I1C
MOV
INC
DEC
BNE
MOV
8IS
MoV
CLR
MOV

Mov

2100, ICOUNT
963, ESCAPE

024 ,FREEZL

220,R0
R3
@20,R}

SDHSCR
@60, BDHSCR
90 ,8DHBA
8DHSCR

R1

24
R3,80HSCR
€40, BOHSCR
€0, 8DHBA
SDHSCR
920,R1

9200,RS5

S0HSSR R4
80MSCR,R3

43

RS
R5,.R4
Ss

S

S

SDHSCR
R1
33
R3

RO
13

SEQ 56
iSET UP FOR 100 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST
$SET UP TO LOOP WITH DATA i 3

;SET UP TO TEST 20(OCTAL)

;LOCATIONS IN MEMORY EXTENSION MEMORY
;:FIRST LOCATION TO 8E

;WRITEEN INTO IS O

:SET UP TO CLEAR 20 (OCTAL)
;LOCATIONS IN MEMORY EXTENSION MEMORY
iSTART AT LOCATION O

;CLEAR LOCATION IN

{MEMORY EXTENSTON MEMORY

:ADVANCE TO NEXT LOCATION

;CONTINUE CLEARING

sIF NOT DONE

:SELECT ADDRESS ,0 BE TESTED

(MRITE HIGH INTO LOCATION

;:LOAD ADDRESS

s ADDRESS LCCATION 0

;:SET UP TO CHECK ALL ADDRESSES

:IN MEHORY EXTENSION MEMORY

sHIGH=EYPECTED RESULTY

:IF ADDRESS READ IS LOCATION
;WRITTEN INTO

;READ MEMORY LOCATION

;IF LINE NUMBER=ADDRESS

:OF LOCATION WRITTEM INTD
sEXPECTED CONTENTS=HIGH

;OTHERUJISE, EXPECTED RESWLTS=0
;00ES MEMORY LOCATION CONTAIMN
;EXFECTED RESULT

;MEMORY EXTENSION DATA ERROR
sCHECK FOR LOOP WITH CURRENT DATA
;CHECK CONTENTS OF NEXT LOCATION
:NEXT ADDRESS TO BE WRITTEN

;CHECK FOR ITERATIONS, LCOP
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1
2 010056

010056
010060
010062
010066
010072
010076
010102
010104
010106
010110
010112
010114
010116
010116
010124
010124
010130
010132
010134
010136
010140
010142
010144
010150
010152
010154

3 010156

010156
010164
010166
010174
010176
010204
010206
010212
010220
010222
010226
010232
010236

10240
010244
010246
010252
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104401
012005
005067
005067
005267
005767
001005
104401
012020
104402
010150
000403

016767

013701
001405
000005
004711
000240
000240
000240
000167
000001

006
011370

032777
001030
032777
001021
032777
001006
005267
026767
001007
005067
005067
011667
000002
016716
000002
005767
001745

001344
001274
001272
170700

001246
000042

171136
002

002000
040000
004000

001172
001166

001156
001134
001136
001130

001114

170656

170614
170604
170574

001162

.EOP

EOP:

2¢:
3s:

LOGICAL:

RESTRT:

PASARG:

.SCOPE

SCOPER:
14

24:

3
4% :

t/BEGIN/

:END OF PASS

sTYPE NAME OF TEST
UPDATE PASS COUNT

sCHECK FOR EXIT TO ACT-11
;RESTART TEST

TYPE

MEPASS

LR LAST
Cl.R ERRFLG
INT PASCNT
TS1 LIGHTS
BNE 24
TYPE

PASTX!

OCTASC

PASARG

BR 3

MOV PASCNT,LIGHTS

MOV 8042,R1
BEQ RESIAT

RESET
JSR PC.(R1)
NOP
NOP
NOP
JMP BEGIN
.WORD 1
.BYTE 6,2
-WORD  PASCNT

;CHECIC FOR LOOP ON CURRENT TEST
;CHECK TOR ITERATION SUPPRESSION

8IT #CW10, 8SWR
43

BNE

B8IT #5k14, BSWR
BNE 34

BIT #5u! 1, 8SWR
BNE 24

INC LPENT

cnp LPCNT, ICOUNT
BNE 34

CLR Ly CNTY

CLR ERRF LG
HOV (SP),RETRN

RTI

MOV RETRN, (oM
RTI

TST ERRFLG
BEQ 13

:TYPE NAME OF TEST
;CLEAR LAST ERROR PC
;CLEAR ERROR FLAG
;UPDAT® PASS COUNT

: ARE WE USING  IGHTS?
: BRANCH IF WE ARE

i TYPE PASLOUNT MESSAGE
i PRINT PASSCOUNT

: CONTINUE

;LISPLAY PASS COUNT

sCHECK FOR ACT-11 OR DDP
;IF NOT, CONTINUE TESTING

3 PARAMETERS TO PRINT PASSCOUNT

SEQ 57

s bbb 2NNV

uuwn
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010254
4 010256

010256
010264
010266
010272

SEQ S8

MACRO Y04.00 27-JUN-85 12:49:26 PAGE 20-1

000762

032717
001402
016716
000002

.SCOoPL

001000 170514 SCOP1R:

001106
14:

-3

;CHECK FOR FREEZE ON CURRENT DATA

0il #5109, 8SWR . 4
BEQ 18

MOV FREEZ1,(SP)

RTI




CZDHB-C9

1 010274

010274
010302
010304
010310
010312
010316
010322
010324
010326
010332
010334
010336
010340
010344
010350
010354
010360
010364
010366
010372
010374
010376
010400
010402
010404
010412
010414
010416
010422
010424
010426
010430
010432
010434
010436
010442
010444
010446
010452
010454
010456
010462
010470
010472
010476
010500
010502
010504
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032777
001055
021667
001404
011667
005067
104406
011605
162705
011504
006304
006304
042704
062704
012467
011467
005767
001403
005757
001011
104401
011715
104402
010500
012767
104401
000000
005767
001404
104401
011715
104402
000000
104407
005777
100005
010046
016600
000000
012600
005267
032777
001402
016716
0000C2
000001

006
011424

020000 170476 ERRORS:

001122

001114
001044

000002

177001
012140
000040
000052
001002

000040

000001

000010

170336
000002
000710
002000
000700

002

000754

170310

.ERROR

1¢:

TYPHSG:

ERRMSG :
TYPDAT:

DATABP :
RESREG:

HALTS:

EXITER:

1%:

ERTABO:

;ERROR HANDLER

BIT
BNE
CMP
BEQ
MOV
CLR
SAVOSP
MOV
sus
MOV
ASL
ASL
aIcC
ADD
MoV
MoV
LEL
BEQ
187
BNE
TYPE
MCRLF
OCTASC
ERTABO
MOV
TYPE
0

TST
BEQ
TYPE
MCRLF
OCTASC

0
RESO5
TST

@SWi3, ASWR
HALTS
(SP),LAST
14

(SP),LAST
ERRFLG

(SP).RS
@2,R5
(R5).R4
R4

R4
9177001,R4
JERRTAB,.R4
(R4)+ ,ERRMSG
(R4) ,DATABP
ERRFLG
TYPMSG
DATABP
TYPOAT

1 .ERRFLG

DATABP
RESREG

8SWR
EXITER
2(SP),RO

ERRCNT
#5410, BSHR

14
ESCAPE,(SP)

6'2

SEQ 59

L 1 . w -
(S XV 2%, N7 ]

-
wn

-
»n

»
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010506

010506
010510
010514
010520
010522
010526
010532
010536
2 010549

010540

010546
010552
010556
010562
010566
910572
010576
3 010600

010600
010604
010610
010614
010620
010624
010630

SEQ 60
MACRO V04.00 27-JUN-85 12:49:26 PAGE 22

. TRPSRV
1 TRAP DISPATCH SERVICE
:ARGUMENT OF TRAP IS EXTRACTED
tAND USED AS OFFSET TO OBIAIN POINTER ; 3
:TO SELECTED SUBROUTINE
01.646 TRPSRV: MOV (SP),-(SP) :GET PC OF RETURN
162716 000002 sue #2.(SP) :=PC OF TRAP
017616 000000 MOV a(sP), (SP) ;GET TRP
006316 TRPOK: ASL (sP) ;MULTIPLY 1RAP ARG BY 2
042716 177001 8IC #177001,(SP) ;CLEAR UNWANTED BITS
062716 012060 ADD #TRPTAB, (SP) ;POINTER TC SUBROUTINE ADDRESS
017616 000000 MOV 8(5sP),(SP) : SUBROUTINE ADCRESS
000136 SAVREG JMP 8(SP)+ ;GO TO SUBROUTINE

:SAVE PC OF TEST THAT FAILED AND RO-RS
016567 000004 000656 SVO5P: MOV 4(SP),SAVPC

:SAVE RO-RS
010567 000646 SV0S: MOV RS .SAVRS
010467 000640 MoV R& ,SAVRA ;3
010367 000632 Hov R3,.SAVR3
010267 000624 MOV R2,SAVR2
010167 000616 nov R1,SAVRL
010067 000610 MoV RO, SAVRO
000002 RTI

.RESREG

;:RESTORE RO-RS
016700 000602 RSOS5: MOV SAVRO, RO
016701 000600 Hov SAVR1.R1
016702 000576 v SAVR2,R2
016703 000574 MoV SAVR3,R3
016704 000572 MOV SAVRA ,R4
016705 000570 nov SAVRS,RS
000002 RTI




prem =
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1 010632

010632
010636
010642
010646
010650
010652
010654
010656
010662

2 010664

010664
010672
010676
010700
010702
010706
010712
010716
010720
010724
010730
010734
010736
010744
010750
010752
010754
010756
010760
010762
010764

-
SEQ 61

MACRO V04.00 27-JUN-85 12:49:26 PAGE 23

017605
062716
105777
106375
105715
V01001
000002
112577
000767

017667
062716
104401
000000
012704
012703
105777
100375
117714
142714
122427
001413
17n
105777
100375
005303
001356
104401
011711
000745
000002

000000
000002
000462

00045G

000000
000002

012102
000007
000406

000402
000200
000015

000364
000360

000006

000366

.TYPER

TYPER:
1s:

2%:
.INSTRG

INSTRG:
INSTRL:
MSG:

14:

2%:

INSTRE:

INSTR2:

: TELETYPE QUTPUT ROUTINE

MOV 8(SP),RS ;3
ROD 92,(5P)
TST8 8TPCSR

8PL 14

TS78 (RS)

BNE 2%

RTI

MOVe (RS)+,8TPDOBR
BR 14

;ASCII STRING INPUT ROUTINE

MOV 8(SP),MSG
ADD #2,(SP)

;YPE

MOV SINBUF ,R4
HOV #7,R3
1ST8 8TKCSR
8PL 13

MOoVve STKDBR, (R4)
8IC8 #200,(R4)
crnP8 (R4)+, 015
BEQ INSTR2

Hove STKDBR,9TPDBR
1ST8 STPCSR

8PL 2%

DEC R3
BNE 14
TYPE

nan

BR INSTR1
RTI
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1 010766

010766
010770
010774
011000
11004
011010
011014
0110316
011020
011024
011030
011032
011036
011040
011044
011046
011052
011054
011060
011062
011064
011066
011070
011072
011074

011076
011102
011104
011110
011112
011116

011120
011124
011126
011132
011136
011140
011142
011144
011146
011150

MACRD V04.00 27-JUN-85 12:49:26 PAGE 24

.PARAMS

; CONVERT ASCII STRING TO OCTAL
011605 PARAMS : MOV (SP.RS
012567 000146 MOV (RS)+,LOLIM
012567 000144 “ov (R5)+,HILIM
012567 000142 MOV (RS)+,DEVADR
112567 000140 MOVB (RS5)+,LOBITS
112567 000135 MovBe (R5)+,ADRCNT
010516 MOV R5,(SP)
005005 PARAML: CLR RS
012704 012102 MOV ¢INBUF ,R4
122714 000015 CMPB €15, (R4)
001420 8EQ PARERR
121427 000060 1s: CHMPB (R4),060
002415 BLY PARERR
121427 000067 CMPB (R4),067
003012 8GT PARERR
142714 000060 SIC8 #60, (R4)
152405 BIS8 (R4)+,RS
122714 000015 CMPB 215, (R4)
0014606 BEQ LIMITS
006305 ASL RS
006305 ASL RS
006305 ASL RS
000760 BR 18
104404 PARERR: INSTER
000750 B8R PARAML

:TEST TO SEE IF NUMBER IS MITHIN LINMITS
020567 000042 LIMITS: CMP RS . HILIM
101373 8HI PARERR
020567 000032 e R5,LOLIM
103770 8LQ PARERR
136705 000032 BITB LOBITS,RS
001365 BNE PARERR

;STORE NUMBER AT SPECIFIED ADDRESS
016704 000022 MOV DEVADR,R4
010524 1s: MOV RS.{R¢)-
062705 000002 ADOD ez ,R5
105367 000013 DECs ADRCNT
001372 BNE 13
000002 RTI
000000 LoLIM: O
000000 HILIM: ©
000000 DEVADR: O
000000 LOBITS: O
011151 ADRCNT=LOBITS+1

SEQ 62
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011152

011152
011156
011162
011166
011172
011176
011202
011206
011212
011216
011220
011224
011230
011232
011234
011236
011240
011242
011244
011250
011252
011256
011260
011264
011266
011272
011276
011300
011302
011304
011306
011312
011314
011316
011320

011322

SEQ 63
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017601
062716
012167
112167
112167
013167
016704
116705
012700
010403
042703
062703
110320
006204
006204
006204
005305
001365
012703
114023
105367
001374
105767
001405
112723
105367
001373
105013
104401
012126
005367
001325
000002
090000
000000
011321
000000

000000
000002
000130
000126
000123
000120
000114
000106
012114

177770
000260

012126
000042
000035

000240
000023

000004

.OCTAST
;CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
OCTASN: MOV 8(SP),RL i S
ADD 02,(SP)
MOV (R1)+,WRDCNT
1s: MOVB  (R1)+,CHRCNT
MOVB  (Ri)+,SPACNT .3
MOV 8.R1)+ ,BINWRD
2s: MOV BINWRD,R4
MOVB  CHRCNT,RS
MOV OTEMP, RO
3 MOV R4 ,RZ
BIC £177770,R3
ADC #260,R3
MOV  R3,(RO).
ASR R4
ASR R4
AZR R4
DEL RS
BNE 33
MOV #DATA,R3
4s: MOV  -(RO),(R3)e
DECB  CHRCNT
BNE 48
TSTB  SPACNT
BEQ 64
5% : MOVB  #240,(R3).
DECB  SPACNT
BNE 53
68: CLRB  (R3)
TYPE
MDATA
DEC WRDCNT
BNE 1
RTI
WROCNT: 9
CHRCNT: 0
SPACNT=CHRCNT» 1
BINWRD: O




SEQ 64
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011324 .POINT t/DHSCR,DHNRC,DHLPR,DHBA ,DHBC,DHBAR,DHBCR,DHSSR,DHSLR , DHRVEC . DHRLVL ,DHTV H /
.I")IRECT POINTERS : gﬂ EC.DHTLVL
011324 177560 TKCSR: 177560
011326 177562 TKDBR: 177562
011330 177564 TPCSR: 177564
011332 177566 TPDBR: 177566
Ly .IRP A <DHSCR ,DHNRC ,DHLPR ,DHBA, DHBC ,UHBAR ,DHBCR ,DHSSR ,DHSLR ,DHRVEC , DHRLVL ,DHTVEC, DH
>
A: 0
.cNDM
011334 000000 DHSCR: ©
011336 000000 DHNRC: O
011340 000000 DHLPR: ©
011342 000000 OHBA : C
011344 000000 DHBC : G
011346 000000 DHBAR: ©
011350 000000 DHBCR: O
0113%2 000000 DHSSR: O
011354 000000 DHSLR: ©
0113%6 000000 DHRVEC: O
011360 000000 DHRLVL: ©
011362 000000 DHTVEC: ©
011364 000000 DHTLVL: ©
2 011366 .VARIA
;PROGRAM VARIABLES
011366 000000 ERRFLG: © ;ERROR FLAG
011370 000000 PASCNT: O sPASS COUNT
011372 000000 ERRCNT: O ;ERROR COUNT
011374 000000 RETRN: O ;SCOPE RETURN ADDRESS FOR TEST LOOPING
011376 000000 ESCAPE: © sADDRESS FOR ERROR ESCAPZ
011400 000000 FREE21: O sDATA LOOPING RETURN ADDRESS
011402 000000 ICOUNT: O sITERATION COUNT FOR TEST IN PROGRESS
011404 000000 LPCNT: O sNUMBER OF ITERATIONS THIS TEST
011406 000000 SAVRO: O 1RO SAVE AREA
011410 000000 SAVR1: O t1R1 SAVE AREA
011412 000000 SAVR2: © sR2 SAVE AREA ;1 3
011414 000000 SAVR3: 0O iR3 SAVE ARE
011416 000000 SAVR4: O R4 SAVE AREA
011420 000000 SAVRS: O :RS SAVE AREA
011422 000000 SAVSP: O ;STACK POINTER SAVE AREA
011424 000000 SAVPC: © ;CALLING ROUTINE SAVE AREA
011426 000000 INIFLG: © ;PROGRAM INITIALIZATION FLAG
011430 000000 STFLG: O 1PROGRAM START FLAG
011432 000000 LAST: 0 sLAST ERROR PC
.IRP A <>
A: 0
.ENOM




- et
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1 011434

011434
011436
011440
011442
011444
011446
011430
011434
011460
011466
011470

011472
011476
011500
011302
011504
011506
011510
011512
011320
011526
011332
011536
011342
011544
011546
011550
011532
011554
011536
011560
011564
011570
011574
011576
011602
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010046
010146
010246
010346
010446
010546
016746
010667
012767
000000
000777

016706
012605
012604
012603
012602
012601
012600
012767
012767
012706
005067
005267
001375
104401
011715
104402
011574
104401
011720
005067
005067
000177
000001
000006
011374

166350
177742
011472

177724

011434
000340
012774
000356
000352

177602
177642
177600

000002

166336

166304
166250

LPFPIL

PFAIL:

RESTAR:

PFTAB:

;ENTER hERE ON POWER FAILURE

MOV RO, -(SP)
MOV R1,.-(SP)
MOV R2,-(SP)
MOV R3, -(SP)
MOV R4, -(SP)
MOV RS, -(SP)
MOV 24,-(SP)

MOV SP,SAVSP
MOV SRESTART , 24
HALT

BR

:SAVE RO-RS5 ON PROCESSOR STACK

;SAVE STACK POINTER
$SET UP FOR POWER UP TRAP
;HALT ON POWER DOWN NORMAL

+PROCESSOR WILL TRAP HERE WHEN POWER IS RESTQRED

MOV SAVSP, SP
MOV (SP)+,R5
MOV (SP)+,R4
MoV (SP)+,R3
MOV (SP)+,R2
MOV (SP)+,R1
MoV (SP)+,RO
MOV PFAIL 24
MOV #340.PS
MoV #STACK,SP
CLR TEMP

INC TEMWP

BNE -4

CLR ERRFLG
CLR LAST
P SRETRN

tRESTORE STACK POINTER
sRESTORE RO-RS

:SET UP FOR POWER FAILURE

SEQ 65

(8 XV ]




C2018 - CO MACRO V04.00 27-UUN-8S 1¢2:49:26 PAGE 28 SE 66
011604 .MSG t/0H11l MEMORY TEST/,t/CZDMB-CO/
C11604 015 012 012 MTITLE: .ASCIZ <15><12><12>/DH11 MEMORY TEST /<15>¢12>
011607 104 110 061
011612 061 040 115
011615 105 115 117
011620 122 131 040
011623 124 105 123
011626 124 040 015
011631 012 000 .

011633 01sS 012 126 MVECTO: .ASCIZ <15><12>/VECTOR ADDRESS-/
011636 105 103 124

011641 117 122 040

011644 101 104 104

011647 122 105 123

011652 123 055 000

011655 015 012 103 MREGAD: .ASCIZ <15><12>/CONTROL REGISTER ADDRESS-/
011660 117 116 124

011663 122 117 114

011666 040 122 105

011671 107 111 123

011674 124 105 122

011677 040 101 104

011702 104 122 105

011705 123 123 055

011710 000

011711 040 040 077 ™MQM: ASCIZ /7 2/

011714 000

011715 015 012 000 MCRLF: .ASCIZ «15>c12>

011720 040 040 120 MPFAIL: .ASCIZ / POWER FAILURE, PROGRAM RESTART AT TEST IN PROGRESS/
011723 117 127 105

011726 122 040 106

011731 101 111 114

011734 125 122 105

011737 0S4 040 120

011742 122 117 107

011745 122 101 115

011750 040 122 105

011753 123 124 101

011756 122 124 040

011761 101 124 040

011764 124 105 123

011767 124 040 111

011772 116 040 120

011775 122 117 107

012000 122 105 123

012003 123 200

012005 015 012 103 HEPASS: .ASCIZ <«15><12>/CZ0HB-C0/
012010 132 104 110

012013 102 055 103

012016 060 000

012020 015 012 120 PASTXT: .ASCIZ <15><12>/PASS COUNT = / i S

012023 101 123 123
012026 040 103 117
012031 125 116 124
012034 040 075 040
012037 000

B




CZDHB -CO

bt Pt el ok b ot et et
NOUVBOGINLOVEIOWN

012040
012043
012044
012047
012052
012055

012060

012060
012062
012064
012066
012070
012072
012073
012076
012100
012102

012102
012114

012126
012140

012140
012140
012142
012144
01146
012150
012152
012154
012156
012160
012162
012164
012166
012170
012173
012176
012201
012204
012207
012212
012215
012220

MACRO VO4.00 27-JUN-8S 12:149:26 PAGE 28-1

015
000
015
105
040
055

010156
010632
011152
010664
010756
010766
010540
010600
010256

000000
012114
000000
C12126

000000
012140

000C00
000000
012170
912526
012252
012526
012332
012544
012401
012534
012446
012556

102

040

123
115
117

122
015

012

012
123
120
000

125
101
122
123
105
122
105
117
012

122

124
124
103

123
104
105
040
115
131
122
122
105

MR:
MISTPC:

.EVEN
.TRFTAB

TRPTAB :

BUFFER

INBUF :
.*.+10
TEMP -

.=.-10

MOATA:
.=.+10
.ERRTAB

ERRTAB:

EM1:

.ASCIZ <15><12>/R/
LASCIZ  <15><12>/TEST PC-/

;TABLE OF POINTERS FOR TRAP DECODING

SCOPER
TYPER
OCTASN
INSTRG
INSTRE
PARAMS
SVOSP
RSOS
SCOP1R

;BUFFERS FOR INPUT-OUTPUT
0
0

0

;TABLE OF POINTERS TO ERROR MESSAGES AND DATA

0

0
EM1
D11
EM2
DT1
EM3
D12
Emnde
D12
EmS
D13
.ASCIZ /BUS ADDRESS MEMORY ERROR/<15><12>/EXP REC

SEQ 67

ACDRESS/




18

19

20

21

CZ0HB-CO

012223
012226
012231
012234
012237
0122+2
012245
012250
012252
012255
12260
012263
012266
012271
012274
012277
012302
012305
012310
012313
012316
012321
012324
012327
012332
012333
012336
012341
012344
012347
012352
012355
012360
012363
012366
012371
012374
012377
012401
012404
012407
012412
012415
012420
012423
012426
012431
012434
012437
012442
012445
012445
012451
012454
012457
012462
012465

MACRO V04.00 27-JUN-85 12:49-26 PAGE 28-2

130
040
040
103
040
101
122
123
102
105
117
124
105
122
105
117
012
120
040
122
040
040
104
105
000
102
040
104
123
115
117
040
122
015
130
040
040
103
102
105
117
124
105
122
105
117
012
120
040
122
000
115
117
040
124
123
116

120
040
122
040
040

040

040
040
105
040
040
104
123

124
103
116
115
117
040
122
015
130
040
040
103
040
101
122
123

123
105

115
131
122
122
105

040
105

124
103
116
112
117

122
015
130

040
103

115
131
130
116
117
105

EM2:

EM3:

s

EMS:

.ASCIZ /BYTE COUNT MEMORY ERROR/<15><12>/EXP

.ASCIZ /BUS ADDRESS MEMORY ERROR/<15><12>/EXP

.ASCIZ /BYTE COUNT MEMORY ERROR/<15><12>/EXP

.ASCIZ /MEMORY EXTENSION ERROR/<15><12>/EXP

SEQ 68

REC ADDRESS/

REC/

REC/

REC ADORESS/




CzDHB-CO

V12470
012473
012476
012501
012504
012507
012512
012515
012520
012523

012526
012530
012532
012534
012536
012540
012542
012544
012546
012550
012552
012554
012556
012560
012562
012564
012566
012570
012572
012574
012574

SEZ 69

MACRO V04.00 27-JUN-85 12:49:26 PAGL 28-3

122
122
105
040
040
105

011416
000003

¢o2
011414

000000
000001

122
015
130
040
040
103
040
101
122
123

02

002
000

002
002

002
002
000

117
012
120
040
122
040
040
104
105
000

.EVEN
0Ti: 3
.BYTE 6,2
SAVR2
BYTE 6,2
SAVR3
BYTE 2,0
SAVR4
DT2: 2
BYTE 6,2
SAVRS
BYTE 6.2
SAVRA
OT3: 3
.BYTE 6,2
SAVRS
BYTE 6,2
SAVR4
BYTE 2.9
SAVR3
.ENDCOD
ENDCOD: O
.END




. ABS. 012576 000
000000 oo1
ERRORS DETECTED: O

VIRTUAL MEMORY USED: 20224 WORDS ( 79 PAGES)
OYNAMIC MEMORY AVAILABLE FOR 71 PAGES
CZDHBC.BIN.CZDHBC. SEQ=CZDHBC.DOC,DHMACA. MAC,CZDHBC.P11

cZDHB-CO MACRO V04.00 27-JUN-85 12:49:26 PAGE 28-4
SYMBOI TABLE

ADRCNT- 011151 EM3 012333 MVECTO 011633
ADRS = 000030 EM4 012401 N = 000001
BEGIN 001306 EM5 012446 QCTASC= 104402
BINWRD 011322 ENDCOD 012574 OCTASN 011152
8IT00 = 000001 eEopP 010056 PARAM = 104405
8ITO1L = 000002 SRRCNT 011372 PARAMS 010756
8IT02 = 000004 ERRFLG 011366 PARAM1 011016
BITO3 = 000010 ERRMSG 010414 PARERR 011072
B1T04 = 000020 ERRORS 010274 PASARG 010150
B8IT05 = 000040 ERRTAB 012140 PASCNT 011370
8IT06 = 000100 ERTABO 010500 PASTXT 012020
8IT07 = 000200 ESCAPE 011376 PFAIL 011434
81TN8 = 000400 EXITER 010456 PFTAB 011574
8IT09 = 001000 FREEZ1 011400 POPRO = 012600
BIT10 = 002000 HALTS 010436 POP1SP= 005726
B8IT11 = 004000 HILIM 011144 POP2SP= 022626
BIT12 = 010000 ICOUNT 011402 PS = 177776
BIT13 = 020000 INBUF 012102 PUSHRO= 010046
BIT14 = 040000 INIFLG 011426 PUSH1S= 005746
BIT15 = 100000 INSTER= 104404 PUSH2S= 024646
CADRS = 000000 INSTR = 104403 RESREG 010434
CHRCNT 011320 INSTRE 010756 RESTAR 011472
DATABP 010432 INSTRG 010664 RESTRT 010144
OEVADR 011146 INSTR1L 010676 RESCS = 104407
OHBA 011342 INSTR2 010764 RETRN 011374
OHBAR 11346 LAST 011432 RSOS 010600
OHBC 011344 LIGHTS 001002 SAVPC 011424
DHBCR  01135C LIMITS 011076 SAVRO 011406
DHLPR 011340 LOBITS 0111350 SAVR1 011410
DHNRC 011336 LOGICA 010134 SAVR2 011412
OHRLVL 011360 LOLIM 011142 SAVRI 011414
OHRVEC 011356 LPCNT 011404 SAVRA 011416
DH3SCR 011334 MCRLF 011715 SAVRS 011420
DHSLR 011354 MDATA 012126 SAVSP 011422
DHSSR 011352 MEPASS 012005 SAVOSP= 104406
DHTLVL 011364 MPFAIL 011720 SCOPE = 104400
DHTVEC 011362 MQM 011711 SCOPER 010156
o011 012526 MR 012040 SCOPE1= 104410
0712 012544 MREGAD 011655 SCOPIR 010256
0713 012556 MSG 010700 SPACNT= 011321
EM1 012170 MTITLE 011604 STACK = 012774
Em2 012252 MTSTPC 012044 START 001004

STFLG
SvVoS
Svos5pP
SWR
SWOO
SWOo1
SWo2
SWO3
SW04
5405
SW06
SWo8
SW09
SW10
SW11
SH12
SW13
Sui4
SH1S
TEMP
TKCSR
TKDBR
TPCSR
TPDBR
TRPOK
TRPSRV
TRPTAB
TYPDAT

TYPE =

TYPER
TYPMSG

T10
T11
112
113
T14
T15
T16
T17

T20

011430
010546
010540
001000
000001
000002
000004
000010
000020
000040
(00100
000400
001000
002000
004000
010000
020000
040000
100000
012114
011324
011326
011330
011332
010520
010506
012060
010416
104401
010632
010374
001400
002322
002420
002516
002614
002712
003010
003106
003204
001516
003302

121

00340C
003476
003574
003672
003770
004066
004164
001634
004262
004360
004456
004554
004652
004750
005046
005144
001732
005242
005340
005436
005534
005710
006064

006414
002030
006570
006744
007122
007300
007472
007664
002126
002224
001164
001174
011316

000020
000020

000011

SeQ 70
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